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Mpeaunciaoene

JlaHHBIH cOOpHHK IpaMMaTHYECKHX YNPaKHEHHH M TECTOBBIX
3aJlaHui TIpeIHa3Ha9€eH 1A [IKOJIFHUKOB CTApIINX KIacCOB, CTyICH-
TOB U ACIMPAHTOB — BCEX TeX, KTO XOUET MOBTOPUTh H 3aKPENHTH
3HAHHA 110 TPaAMMAaTHKE aHITINICKOTO SI3bIKa, MOJIYYHUTh HaBbIKH YTE-
HHUS U NEPEBOJia AHIIMACKHX OpPUTHHAIBHBIX TEKCTOB HAa PYCCKHd
A3BIK.

YuebHOe nocobue COCTOUT U3 ABYX JacTeH.

IlepBas 4acThb CONEPXKHT YNpaKHCHHS O OCHOBHHIM pa3ziie-
1aM rpaMMatikd. Kaxkaoe ynpakHeHUE COCTOUT M3 MpeAIoKeHHUH,
IIPEAHA3HAYEHHBIX 1 TIEPEBO/la C aHIVIMMCKOTO A3bIKa HAa PYCCKMH.
I'pamMmarHyeckue TEMBl HPEACTABICHBI B CICAYIOUIEM TOPSIIKE:
LIPEATIOXKEHHE, €0 CTPYKTYpa, HOPAJIOK CJIENOBAHMS WICHOB Npel-
JIO’KCHHSA, YaCTH PEYX M TpaMMaTtHiyeckue (yHKIHH, BHIIOIHAEMbIE
UMU B TIpeIOXKEHUHA. ITO 00yCHOBIEHO TEM, YTO BaXKHOH M HeoOX0-
JUMOH NpEANOCHUIKON NOHMMaHMs M IepeBoJa aHINIMHCKOTO TEKCTa
SIBJISICTCS 3HAHUE CTPYKTYPh! aHDIIMICKOTO MPeUI0KEHMs, €T0 BHIOB.

Takoe pacnonoxeHHe ympaKHEHHH COOTBETCTBYET IPEICTaB-
JISHHI0 IPaMMAaTH4ecKkoro marepuana B ydeOHuke «lIpaxrtmueckas
rpaMMaruka aHnmiickoro sspika» (M.: ®JIMHTA: Hayka, asrop
[lupokosa I"A.). PexoMeHayeM mONB30BaTECH UMEHHO 3THM y4el-
HHMKOM, TaK KaK I'paMMATHKa B HEM NPEACTABICHa B aCIIEKTE IIEPEBO-
Ja ¢ aHITIMHCKOTO SA3BIKA HA PYCCKHH W BCE YIIPAXKHEHUA CHaGKEHB!
CCBHUIKaMH (OHH JAIOTCS B CKOOKax) Ha KOHKPETHBIE TPAMMAaTHYECKHE
TeMBl 3TOT0 y4yebHoro nocobus. OxHAKO IS BHITOJHEHUS YIPAX-
HEHUH MOXET OBITh MCIONB30BaH JI000H CIIPaBOYHUK WIH y4eGHUK
IpaMMAaTHKH aHIIHICKOTO A3bIKa, U YIPa)KHEHUS MOXXHO BBIUTONHATh
n36uparesbHO.

B xoHle nepBoii YacTH Aal0TCA KOHTPOJIbHBIE paboThl (TpH Ba-
pHUaHra).



Bo BTOpO# YacTH NpeACTaBICHBI TECTOBBIC 33JJaHHA MO rpaM-
MaTHKE, 1I€/1b KOTOPBIX — BBISBHTH NPOOEIBI B yCBOCHUH [IPOAICH-
Horo MarepHasa. OHU MOTYT OBITh HCHONB30BAaHbI KaK AJISA IIOBTO-
peHus Kypca rpaMMaTHKHU, TaK M UIA IPOBEPKH 3HAHUA OCHOBHBIX
MpaBUJ 'paMMaTHKU. TeCThl CHaOkKeHBl HE TOJNBKO KJIKOYaMHu, HO U
MOACHEHUAMH, YTO OCOOCHHO Ba)XHO JIJIA CAMOCTOATENIBHO U3y4da-
OIKX aHrmuiAckui s3eiKk. ConocTapiAs CBOH OTBETHI C NpaBWIb-
HBIMH, paboTaomMii ¢ JaHHBIM Y4eOHBIM TIOCOOMEM MOXKET Mpo-
BEPHUTD, YCBOEH JIM U3y4YacMblii UM MaTepHall, a IPH BO3HUKAIOIIUX
3aTPYAHEHUAX — HCIOJB30BaTh MOACHEHUA K KIIto4aM. J{is JMKBH-
JAlKH Npo6esioB B 3HAHUAX PEKOMEHTyeTcs 0OpaTUThes K y4eOHu-
Ky Y BHIIIOIHUTH PAJ YIPAOKHECHUN HA COOTBETCTBYIOILYIO TEMY.



Kak paborars ¢ nocoduem

C60opHHUK yHpaXKHEHHHA OpeTHA3HAYCH HE TONBKO )1 TPYNIOBLIX
¥ MHIVMBAAYAJIBHBIX 3aHATHI C IIperogaBsaresieM, HO U JJ19 CaMOCTO-
ATENHHON paboTel.

IIpexxae 4eM BBLHIOIHATH KOHKPETHOE YNpaKHEHHE, HEOOXOAHU-
MO H3Y4MTh (WIH MOBTOPHTE) COOTBETCTBYIOIIYIO IPaMMAaTHUECKYTO
TeMy.

[Tpu ucnoap30BaHAM PEKOMEHAOBAHHOTO Y4eOHHKA IpaMMaTHKH
B 11poliecce paboThl Hall COOTBETCTBYIOIIEH rpaMMaTHUECKOH TeMOH
yiesute 0coboe BHUMaHNE NpHMEpaM U HX MEPeBOAY Ha PYCCKHi
A3bIK. B HHMX WCHONMB3YETCA MPOCTON NEKCHYECKUI MaTepual, 4To
aeT BO3MOXHOCTH CKOHIEHTPHUPOBAThCs Ha I'PAMMAaTHYE€CKOM SB-
JIeHUH.

3areM BHINIOJHUTE ClICAYIONIEe YIPaKHEHNE: 3aKpOHTe NepeBon
npuMepa u3 y4eOHMKA H CaMOCTOSITEILHO IIEPEBEAMTE €r0 MHCHMEH-
HO. CpaBHHUTE CBOH BapUaHT C IIPEUIOKSHHBIM U TIPOaHATU3UPYyHTEe
JIOTIYIIEHHBIE BAMU OLUHOKHY.

IlonroToBETE OTBETHI HA KOHTPOJILHBIE BOIPOCHL, TIPEIUIONKEHHEIE
B pasjene y4eOHuKa « Bonpocs! 1t cCaMOKOHTPOIS».

Ilocne 3TOro MOXHO NpPHUCTYNaTh K BHINOJHCHHIO YIpaxHe-
HUM B mUCbMeHHOH ¢opMe. Ipy BO3HMKHOBEHMM TPYAHOCTEH TIO-
HUMaHHMA M MNEPEBOJA KaKOro-1yOO NpeUIoNEHHSA, BKIIOYAIONIETO
JAaHHOE T'PaMMAaTHYECKOE fABJICHHE, MOKHO eule pa3 obparurhcs K
pexoMenayeMoMy y4eOHMKY rpammarnki. CooTBETCTBYIOIMIA pa3-
Jen ¥ nofpaszen yaeOHUKa IPUBOAATCS B CKOOKaX IOC/IE 3alaHuA K
YIPa)XHEHHIO, YTO CIOCOOCTBYET GBICTPOMY HAXMKACHHIO HYXHOM
uHpOpMAaLIUH.

[TpennoxeHus, BKIIOYECHHBIC B YNpaXHEHUs, KaK NPaBWio, pac-
HOJIOXKEHBI 110 CTEIICHH HApacTaHUs TPYHRHOCTEH, YTO JAaeT BO3MOXK-
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HOCTBH BHIOMpaTh NpeUIOKEHHsS I IepeBola B COOTBETCTBUH C
YPOBHEM TOATOTOBJICHHOCTH.

Hcnonb3oBadue JaHHOTO NOCOOMS CTYICHTAMHM M aCIMpPaHTaMHU
NpeAnoiaraeT napajvieNbHy0 paboTy HaJl TEKCTaMH IO ClielMaIb-
HOCTH. B 3TOM Cllyyae 3aBepuIalONINM yIpaKHEHHEM B KXIOM pas-
JieNie MOXKeT OBITh YIPaXHEHWE Ha OTHICKAHHE COOTBETCTBYIOMIETO
IpaMMaTHYECKOTO ABJICHHS B TEKCTaX JJ1S JOMAUIHETO YTEHHUS.

ABTOp BBIpaXaeT NPH3HATEIBLHOCTh KOJUIETaM 3a paspelleHue
UCIT0Ib30BATh OTACIBHBIC TIPEJIONKEHHS U3 X YIeOHBIX TIOCOOHI.

ABTOp cepeuHO OaromapuT pereH3eHTa KHUrH JoKTopa duio-
Joru4eckux Hayk, npodeccopa Huny MapkoBHy PasuskuHY, penak-
Topa KaHauaara ¢pumonorndeckux Hayk Jlronmuny Meanosny Kpas-
IIOBY, KOJUIET, APY3€ii, YICHUKOB, b1 COBETHI M IIOXKETaHHs IIOMOIIM
B IIporiecce pa0OTH! HaJ KHUTOH.



Yacrs 1. YIIPAJKHEHHUA

1. Ilpeanoxenne B AHIIHICKOM A3BIKE

Ynpaxuenue 1. Mepesegure npepnoxeHnn, BusBAss WX CTPYKTYpY
(1.1—1.5).

1. Farmers grow vegetables.
2. Vegetables grow well here.
3. Biologists study plants and animals.
4. Geologists collect and analyze rock samples.
5. His knowledge of English is very good.
6. By means of this equation the velocity of the body can be
calculated.
7. Much attention is being given to international scientific contacts.
8. You have asked me this question. It is difficult.
9. It is difficult to answer all these questions.
10. It was not necessary to use this device.
11. It is late and quite dark outside.
12. It is necessary to think it over.
13. It will take me about an hour to get there.
14. It is impossible to translate such texts without a special dictionary.

YnpaxHeHue 2. lNepeBegute crosocoueraHns, BLIABARA onpepene-
Hue (1.4.1).

1) cane sugar, sugar cane, problem determination, a determination
problem, a news paper article, a choice theory, a research program,
a computer course, a search method, a fuel tank, crystal growth,
control systems, life insurance, shuttle diplomacy, price increase,
corruption struggle, transition period;

2) cane sugar price, control system design, a crystal growth
method, an ecology problem congress, a cell growth rate increase,
river basin development project;

3) an internal combustion engine, a new research program, a high
school graduate, an clementary game system, a different product
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distribution, the main search method, a new control system, a simple
identification technique, a complicated determination approach,
effective control mechanism, existing optimal control methods.

Ynpaxxnenne 3. Nepesegute npeanoXeHun, copepxaiue cyule-
cTBUTEAbHbIE B hyHKUUK onpeaeneHusn (1.4.1).

1. All mass media systems in all societies tend to be treated
together.

2. A brief information on production and supply theory is provided
here.

3. During the experiment they used the temperature control system.

4. The paper focuses on the development of a search approach.

5. This parameter determination method is absolutely new.

6. The problem identification task is of great interest.

7. These important measurement parameters are presented in Table 1.

8. These changes are due to the action of adrenaline on blood glucose
concentration.

2. Buasl npocToro npenioxeHnst

YnpaxHenue 1. Mepeseante npepnoxkeHus, cogepiailiue KOH-
CTPYKLHIO C BBOAAWMKM there (2.1.2).

1. There is no rule without exceptions.
. There were two more alternatives.
. There are a lot of palm trees in hot countries.
. There are many obstacles to the solution of the problem.
. There were several drawbacks in that method.
. There have been one or two exceptions here.
. Is there a way out of the situation?
. There existed other trends in agriculture.
9. There remain some doubts about the way of making corrections.
10. There exists a new instrument to deal with this issue.
11. Is there any evidence available as to these reactions?
12. There were no mistakes in his calculation.

9
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13. There has occurred discrepancy in the description of the system.

14. There were large areas where population density was less than two
persons per square mile.

15. While there is life there is hope.

YnpaxHenue 2. MNepesegute NpeanoxeHWs, BbIABAAA HMX BHALI
(2.1—2.4).

1. The results of the experiment were inaccurate.

. What does a scientist often use instruments for?

. He listens to nobody.

. Name three animals.

. Why is there a bridge over the Bosphorus?

. Check the program, please.

. What temperature does water boil at?

. Economic enterprise in the colonies was by no means limited to
farming or trade.
9. Let us check the plan.

10. We no longer consider single processes in the organism.

11. Palm trees are uncommon in Russia.

12. Are the results of the experiment known yet?

13. Have scientists found out anything about the new substance yet?

14. Divide ten by five.

15. What is happening to the atmosphere?

o ~3 O\ W W N

3. C10:)KHONOIYHHEHHOE TIPelJIoKEeHHEe

YnpaxHenue 1. NepeBegnte npeanoxeHus, cogepxauiue np1ga-
TOUHbIE NpeanoKeHua noanexawme (3.1.).

1. That the method is too complicated is obvious.

2. That the performance was a success was not surprising.
3. Who will do it is not known.

4. How it has been done does not matter.

5. What he said may be true.
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6. Whether these two phenomena are related has yet to be proved.
7. Whether or not these conditions hold in every case should be
proved.
8. What we read in his book was of great interest.
9. That the earth revolves around the sun is known to everybody.
10. Where a thing is used makes a ot of difference.
11. How important his work was is clear to us.
12. What I try to do is to understand the importance of the issue.
13. Whether or not these techniques will be used remains to be seen.
14. What we like depends on what we are used to.
15. That it is easy to confuse the two notions is shown by this
example.
16. What followed was the study of a new phenomenon.
17. Whether the treaty will be signed is not clear.
18. What really matters is the attitude to the problem.
19. Which method is preferred depends entirely on circumstances.
20. What is really meant can sometimes be understood only by
returning to the earlier experiences.
21. How this occurred can be seen from the following example.
22. Whether or not this is true may not be particularly important.

YnpaxHenue 2. lMepeBegute npepnoXeHus, cogeprxauiye npuaa-
TOYHbIe NPeANoXeHHUs ckasyemble (3.2).

1. The question is how he does it.
2. The decision was that difference should be examined in detail.
3. The advantage of the method is that it has been tested.
4. The question remains whether this information is reliable.
5. What is surprising is that he is always right.
6. The result was that we gave up the idea.
7. What matters here is that it does not matter.
8. The problem was which book was to be published first.
9. The most important question is whether this approach is of
scientific interest.
10. This is not what you have promised me.

11



YnpaxHeHue 3. [lepesepurte npennoxxeHnn, coaepxaumne npupa-
TOUHbBIe NPEeRNOKEHHA AonoaHuTenbHbie (3.3).

1
2
3

o0 ~1 O\ L A

9.

10
11

. Nobody knows who invented the wheel.

. Never put off till tomorrow what you can do today.

. They ask when they can deliver the apparatus.

. Everybody knows that the earth is round.

. They did not understand what they should do in such a situation.

. We did not know it was possible to change the conditions.

. They argued that winter would be long and severe.

. We see from the previous problem that we have two basic types of

variables.

He only confirmed what we really knew.

. He claimed that he had never been there.

. Lomonosov was the first scientist who found that heat, light and
electricity are different forms of matter.

YnpaxHeHue 4. lepesepure npepnoxkenusn, cogepxawe npuaa-
TOUHbIE NpesNoXeHHA onpegenuTenbHbie (3.4).

1.

N AW

~N

10
11
12
13
14

Scientists who study chemistry are chemists.

. Amphibians are animals which live both on land and in water.

. The only people who make no mistakes are dead people.

. This is the problem which is to be taken into consideration.

. The problem is to be taken into consideration, which is very
important.

. You can choose any university or college you like.

. At the exam we usually use dictionaries which we borrow from
the library.

. I have read many books, which helps me in my work.

. A man is known by the company he keeps.

. The characteristics we are interested in are shape and size.

. This is the town where I was bomn.

. That’s the main reason why he doesn’t go there.
. He lacked courage, which surprised me.
. Experience is the name everyone gives to his mistakes.

12



15. This is the only way by which we can distinguish which of the two
events came first.

16. The devices we have just described are not the only ones avai-
lable.

17. The reason why he did not come is not clear.

18. The few facts he mentioned were both interesting and important.

19. The facts the newspaper referred to were left out of conside-
ration.

20. The report that was presented by a scientist from the USA aroused
great interest.

21. The most important effect the moon has on the earth is in the
production of the tides.

22. The only area of public spending the government did not cut was
research and development.

23. Supermarkets offer low prices, which resulted in the closure of
many small shops.

YnpaxHeHue 5. MNepesegure npeanoxxeHun, copepxawime npHaa-
TOuHble NpeAnoXeHus obcroatenbcreeHHbie (3.5).

1. I’1l talk to him about it when I see him.

. You can go wherever you like.

. Il call you back when I make up my mind.

. It is important not to make any decisions until all the facts have
been gathered.

. He spoke so slowly that I could hardly understand him.

. However difficult the problem may be, it must be solved.

. You never know what you can do till you try.

. A problem cannot be solved until it is accurately defined.
9. He wrote down the figures lest he should forget them.

10. Speak louder so that I may hear you.

11. Facts do not cease to exist because they are ignored.

12. All the approaches, whichever you choose, are useful in this case.

13. Wherever he went, he saw the same situation.

14. Whichever approach will be used, the result will be the same.

15. Never act until you have all the information.

EENRYS B
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16. However wise people are, they always want advice.

17. Whatever you do, do it well.

18. Once one has made a decision, one should hold to it.

19. The experiments show agreement with the theory provided the
conditions are met.

20. Given the data are reliable, it is possible to determine the reaction
rate.

21. Once training is completed, further tasks can be carried out with
relative ease.

4. Imdasa

YanpaxueHue 1. MNepesefute npeanoxkeHus, copepxaiyme ycunu-
TenbHbid rnaron do (4.1.1).

1. I do think it’s a mistake.
2. They do ask a lot of questions.
3. He does speak five languages.
4.1t did cause some ambiguity.
5. The fault did occur.
6. Do pay attention to these phenomena.
7. The problem was extremely complex, but we did solve it.
8. They did need this information.
9. Our desire for what we do not have keeps us from enjoying what
we do have.
10. The article does, however, focuse on two basic approaches to the
problem under consideration.
11. The problem does exist, whatever you think about it.

YnpaxHeHue 2. lepeBegute npeanoxeHns, cogepxaiue gBoHHOe
orpuuaHue (4.1.2),

1. It is not uncommon to use this technique.
2. This case is not infrequent.
3. This is not impossible.
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4. This issue is not without significance.
5. The total number of German words in English is not inconside-
rable.
6. This book was severely, but not unfairly, criticized.
7. The German language is supposed to be not unlike English.
8. These changes will not be impossible.
9. This assumption is not unreasonable.
10. These changes are not irregular.
11. It is not uncommon for families in rural areas to have three or
more children.

YnpaxHeHue 3. Nepeseaute npepnoxeHus, coaepxauiue covera-
HHMe OTpULaTeNbHOro rnarona c npeasnoramu till v until (4.1)

1. The work was not finished till the end of the year.

2. His book was not translated until after his death.

3. The second part of his work did not come out until 2015.
4. The novel was not published till 1980.

5. This event did not happen until the end of the century.

6. The credit was not granted until early March.

YnpaxHenue 4. lNepeseaute npeanoxeHns, coaepxauye covera-
Hue it is... that... (4.1.4).

1. It is our knowledge that helps us in life.
2. It is language that enables us to communicate with each other.
3. It was he who told us about the results of their work.
4. It was he who first offered an explanation of the phenomena.
5.1t is the gravitation that makes the satellites move round the
earth.
6. It was this technique that failed to meet these requirements.
7. It is precisely this method that he followed.
8. It was there that all traces of the expedition were lost.
9. It is what one does that counts, not what one promises.
10. It is these facts that drew our special attention.
11. It was Mendeleyev who arranged the elements into a periodic
system.
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12. Tt is these special properties of sound that are the subject of the
present paper.

13. It is the proposition that has nothing to do with our policy that was
rejected.

14. It wasn’t only currency independence that made Finland one of the
continent’s most successful society.

15. It is the statistical analysis that is of great significance for proper
planning.

16. It is the sun shining on drops of rain, as they fall, that makes those
beautiful colours in the rainbow. It is because every little raindrop
is a round ball of water, that the bow itself is curved or round.

YnpaxHenue 5. llepesegurte npeanoxeHun, cogepxall1e covera-
Hue it is not until... that (4.1.5).

1. It was not until 2010 that he came back to Russia.

2.7t was not until the end of the year that the first progress was
made.

3. It was not until the beginning of the century that the interest to the
problem arose.

4.1t was not until his book was published that he became widely
known.

5. It was not until the end of the 18th century that this country became
independent.

6. Actually, however, it is not until the other person begins to speak
that you can form a very definite idea of his personality and his
character.

YnpaxHeHue 6. lepeBegute npeanoxxeHus, cogepraiiue HHBepPTH-
poBaHHOe o6cTosaTenscTso (4.2.1).

1. Never was this book a success.

2. Nowhere could we find her.

3. Rarely can one face such an interesting problem.
4. Never will I do it again!

5. Only in the latter case could we see the difference.
6. Only now do I realize the importance of this job.
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7. Never before has there been such a device.
8. Perhaps nowhere have better results been achieved as in this field
of science.
9. Seldom have I seen such a remarcable person.
10. Nowhere can we see such rapid progress as in this field of
science.
11. The most brilliant planet is Venus. So bright is it that even in the
daytime it is sometimes faintly visible.

YnpaxHenue 7. [lepeseaute npeanoXxeHus, copepmaiiie HHBEPTH-
pOBaHHYIO YacTb ckasyemoro (4.2.2).

1. Included in the report are the latest data on the phenomenon.
. Interesting for us was his point of view on the problem.
. Trying to solve the problem were many interested scientists.
. Of great significance was his last finding.
. Linked with this issue is the question of interdependence.
. Interested in the problem were many scientists.
. Showing interest in problems of control were scientists in many
branches of science.
8. Confirming this possibility is another fact.
9. Important for this method was the following point.
10. Attached to the article are tables.

I ON W R W N

YnpawHeHue 8. MNepeseanre npeanoxeHun, copepxaliue UHBep-
CHIO nocne colo3o8 so, neither, nor (4.2.3).

1. He speaks two foreign languages, and so does his brother.

2. We could not identify the pattern. Neither could we make the
experiment once more.

3. They did not want to go to see him, nor did they insist on his
coming.

4. They are very busy now, so are their colleagues.

YnpaxHeHue 9. MNepesegute npeanoxxeHUA, copepmailue WHBep-
CHIO B NPHAATOUHDBIX NPEANOKEHHAX YCTynuTenbHbix (4.2.4).

1. The idea, interesting though it is, is of no practical value.



2. Difficult though it was, the problem was solved.
3. Important as this work is, it doesn’t cover the problem on the
whole.
4. Complicated as it may be, the task should be expressed exactly.
5. Important as this discussion may be, we are not going to take part
in it.
. Hard as it is we must do this work.
7. The following translation, inadequate as it is, may help to catch
the main idea of their work.
. However complicated the problem is, we are ready to solve it.
9. Inexperienced though they were in navigation, the two men safely
reached that island in a small boat.

(o)}

[o2]

5. im1 cyniecTBHTE/IbHOE

YnpaxHenue 1. Mepesegute cyuiectsutenbHbie, o6pauman BHu-
MaHHe Ha X YHCNO U cnoBoobpasosatenpHbie cydouken (5.1—
5.7).

dresses, sizes, dishes, watches, changes, boxes, brushes;

a container, a protector, a reporter, an inventor, a composer, a
producer, a computer, a restorer;

simplicity, similarity, selectivity, complexity;

movement, equipment, requirement, agreement, measurement,
development, developments;

readiness, weakness, usefulness, effectiveness, darkness, goodness;

leadership, citizenship, dictatorship;

a chemist, a physicist, a specialist, an economist, a scientist.

YnpaxHeHue 2. MNepesegute npeanoxeHus, o6paiias BHUMaHHe Ha
opMy MHOXECTBEHHOTO UHCNA 3aUMCTBOBAHHBIX CYLECTBHTENDb-
Hbix (5.2.1).

1. Such phenomena are rather rare in life.
2. What criteria do you use in your work?
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3. Our last set of analyses shows quite different results.
4. He has never been good at math formulas.

5. These data are absolutely new.

6. Such inequalities are found in all strata of society.

6. ApTUKIb

YnpaxHeHue 1. MNepesefnTte cnegyoume cyweCTBUTENbHbIE C APTH-
knem (6.1—6.4).

a text, the text, a hint, the hint, the plan, a plan, a trend, trends,
the trends, water, the end, an end, a step, the step, the theme, a
theme, a test, the tests.

YnpaxcHeHue 2. Mepesegure npeanoxxeHuns, obpawan BHUMaHHe Ha
aptuknb (6.1—6.4).

1. A new laboratory was formed to develop the project.

2. The plan of action was worked out in detail.

3. It is time for a decision.

4. It is just an option, not the option that we must accept.

5. I am sure you will like the book.

6. It is time to check the plan.

7. Rome was not built in a day.

8. Matter exists in time and space.

9. The matter you speak about is unknown to us.

0. A student can write an article like this.

1. The most important part of your paper is the description of the
discovery.

12. Washington is the capital of the USA.

13. A person who wants to master a foreign language must work

hard.
14, She teaches literature.
15. She teaches the literature of the Middle Ages.

1
1
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7. UMa npunarareinbHoe

YnpaxHeHnue 1. lepeseante npegnoxeHus, cogepxxaiiue npunara-
TenbHbie B CPaBHHTENbHOW W NnpeBocxofHoN cteneHH (7.1—7.6).

1. This is a more difficult task.
2. This new method is more accurate than the previous one.
3. The correction made the method less useful.
4. This is the simplest way out of the situation.
5. We have far less time to do it.
6. This is the most effective technique.
7. The other methods are least effective.
8. We omitted the least important details.
9. His idea is much more interesting.
10. Oxford is about forty years older than Cambridge.
11. The University of Oxford is the oldest university in Britain.
12. His further ideas were neither good nor applicable.
13. You are far more tolerant than I am.
14. They faced the most involved problems.
15. Lake Superior is the biggest fresh water lake in North America.
16. I have further information on the subject.
17. The sun is much brighter than the moon.
18. The Finns have one of the world’s most successful educational
systems.

YnpaxxHeHue 2. lNepeBepnre npeanoxxeHus, cogepmallme cpaBHU-
TenbHbie KOHCTPYKUUK npUunararenbHbix (7.4).

1. This model is as important as that one.

2. This approach is not so complex as the others.

3. My accent is worse than yours.

4. The grammar of the German language is more difficult than that
of English.

5. The higher your expectations, the greater your disappointment
will be.
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6. The longer I know him the more I like him.

7. The price may be greater than, less than, or equal to the nominal
value.

8. It can also be seen that the smaller the data set is needed, the fewer
samples are required.

8. Hapeuue

YnpaxHerue 1. [epesegute npepnoxeHns, copepxxaiuye Hapeuus
(8.1—8.2).

1. The supposition was scientifically proved.
. We completed the work nearly two years ago.
. We can hardly realize the danger.
. The environment was badly contaminated.
. An accurate description is not necessarily adequate.
. The facts may readily be proved.
. They suffered badly from the lack of information.
. Success in action depends partially on one’s ability to control a
situation.
9. The method meets many requirements particularly that of error
detection.
10. Eventually they will manage to do the work.
11. We tested the substance repeatedly.
12. They passed the examination successfully.
13. We will perform the operations successively.
14. He listened to the speaker most attentively.
15. Finland joined the the Euro zone largely for political, rather than
€CONnomic reasons.

00 IO\ B Wi

YnpaxHeHue 2. llepesegute npeanoxeHun, copepxxaiiye Hapeuna
B CPaBHHTENbHON U NPEBOCXOAHOMN cTeneHHM (8.3).

1. They can do it much better.

2. Actions speak louder than words.

3. Better late than never.

4. The methods differ most fundamentally.
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5. This compound reacts least actively.
6. An expert is one who knows more and more about less and less.
7. Years teach more than books.
8. Now I read less than several years ago. I have very little time.
9. The more you read, the more you know.

10. The less attentively you listen, the less you hear.

11. The sooner he comes, the better.

12. The longer I stay here, the more I like the place.

9. MecTouMenue

YnpaxHenue 1. MepeBepure npepnoxeHun, coepxaumne mecro-
umenus (9.1—9.8).

1. It is night.
2. It will be difficult to change the plan.
3. The method is good. It is effective.
4. 1t takes time to change the programme.
5.1 hope it will be warm in September.
6. He obtained results similar to ours.
7. The point of view of that mathematician was contradictory.
8. This point of view is that of a mathematician rather than a
physicist.
9. These devices are more reliable than those designed in our
laboratory.
10. One must know this fact.
11. This enables us to see the difference.
12. This point of view differs from the one presented in this paper.
13. To get good results one must work hard.
14. One is never old to learn.
15. They faced some difficulties in their work.
16. They did not face any difficulties.
17. Any of these methods are useful.
18. We can find no solution to the problem.
19. The action resulted in some changes in their work.
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20. These errors resulted from some special difficulties of the method.

21. When you have nothing to say, say nothing.

22. Neither book was of any interest.

23. Either approach will be useless.

24. None of the available documents were entirely accurate.

25. There are two suggestions that I would like to put forward. Neither
is without its problems.

10. M5 yncaureabHoOE

YnpaxueHune 1. Mepeseaute npegnoxxeHns, cogepxxamme YHCIK-
renbHbie (10.1—10.4).

. Multiply ten by six.

. Divide ten by five.

. Five times five is twenty five.

. Nine minus two is seven.

. Eight is an even number.

. How much is four multiplied by nine?

. How much is twenty-one minus eight?

. How much is forty-nine divided by seven?

. Our house is two hundred years old.

. We usually use the word nought in arithmetic. Zero is used in
temperatures.

11. March is the third month of the year.

12. Four fifths of the population disapprove of this policy.

O O 0 1IN N AW~
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11. I'maroa

YnpaxHeHue 1. MNepesegure npegnoxkeHnn, obpaujas BHHMaHHe Ha
¢opmy raarona (11.1—11.8).

1. Our recent work has confirmed the preliminary research.
2. Egypt was conquered by Alexander the Great in 332 B.C.

23



3. There are different ways of learning words.

4. While translating a new article, we look up the unknown words in
a dictionary.

5. This instrument allowed us to get reliable results.

6. They have been taught English since their childhood.

7. Please stop speaking so loudly.

8. He demanded that we should change some points of the plan.

12. Buno-Bpemennbie ¢popMbl ri1aroaa
JAeHCTBHTEILHOTO 321073

Ynpaxnenue 1. [lepeseante npeanoskeHns c rnaronom-ckasyembim
B chopme AeHcTBHTENbHOTO 3anora (12.1—12.6).

1. The sun rises in the east.
2. His friend plans to leave Spain for Italy.
3. He presented his paper two years ago.
4. He has just presented his paper.
5. It will be necessary to use the new technique.
6. We have finished the work this week.
7. 1t took us a lot of time to write the letter.
8. We were working at the problem at that time.
9. We will be discussing these questions tomorrow morning.
10. There were many people at the conference.
11. We have used this method since 2012.
12. A number of studies have explored the connection between these
points of view.
13. By the end of the year they will have fulfilled the plan.
14. It will take them several hours to find the document.
15. The scientists say they will have finished the experiment by
Thursday.
16. Before the exhibition closes 80 thousand people will have attended
it.
17. They have been friends since childhood.
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18. What were you doing yesterday at 7 p.m.?

19. We have used the term for a long time,

20. In addition, rapid changes were, and still are taking place.

21. What are you doing tomorrow at 12 o’clock?

22. They will be making the experiment the whole day long.

23. This company’s profits are growing every year.

24. After a careful study we came to the conclusion that the formula
was much more complicated than the one we had been using
before.

25. They have been working at the problem since 2010.

26. They had been working at the problem for two years by that
time.

27. He has been working on the book for two years, but he hasn’t
made much progress.

13. Bugo-sBpeMenHbie (OpMBI I1arosia
CTPaaaTeJIbHOI0 3aJ10ra

YnpaxueHue 1. lMepeBeautre npeanoxxeHus, BbIABAARA [naron-
ckasyeMoe B (popMe cTpagatenbHoro 3anora (13.1).

1. He asked a question.
2. He was asked a question.
3. They supported all our actions.
4. We were supported in all our actions.
5. The road has been widened.
6. The book is being translated into Italian.
7. The agreement has been concluded.
8. Trains were invented long before cars.
9. The information will soon be received.
10. The points under consideration will be discussed in detail.
11. When will the results of the tests be presented?
12. What is being built here?
13. No detailed analysis of the problem has yet been done.
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14. Much attention is being given to international scientific contacts.
15. The problem has always been subjected to criticism.

16. The plan may be corrected.

17. The article should not be published.

18. The work must be done by tomorrow.

YnpaxHeHue 2. lNepesegute npepnoxeHun, cogepxawue npeg-
noxxusie o6opoTLl Nocne raarona B popMe CTpafaTeNIbHOTO 3anora
(13.2).

1. This is forbidden by law.

2. The initiative was not supported by everybody.

3. Mathematics is loved by many, disliked by a few, admired and
respected by all.

4. The test should not be written in pencil.

5. The experimental facts can be explained by this supposition.

6. These things are made of silver.

7. This phenomenon has been dealt with by many researchers.

8. These houses are built of wood.

YnpaxHenue 3. MepeBeante npeanoXenns, B KOTOPbIX CKasye-
MO€e BbIpaXXK€HO rnaro/ioM, NMpUHHMAIOUWHM NPAMOE [OMNO/IHEHHe
(13.4.1).

1. One error followed another.
2. This error was followed by another one.
3. This action affected the other actions.
4. The action was affected by many factors.
5. The letter will be answered at once.
6. He influenced all their decisions.
7. He was influenced by all their decisions.
8. Few questions were answered correctly.
9. The pronunciation of a few English words has been affected by
modern French: for example, machine, police, hotel.
10. This paper was shortly followed by another one by the same author.
11. These facts mean that the report might well be followed by
debates.
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12. The authenticity of this document has been confirmed.

13. The method I have described in the article is the one that is followed
by all of us.

14. Some plants are unaffected by cold.

15. The report was followed by a discussion.

16. The method described above is the most accurate one and it should
be followed when accuracy is desired.

17. The first cinema show was quickly followed by many others in all
parts of the world.

18. Economic well-being is affected by many factors.

YnpaxHeHue 4. lepeseaute npegno)keHns, B KOTOPbIX CKa3yeMmoe
BbIpaXXeHO r/1aronoM, NPUHHMaIOWHM KOCBeHHoe GecnpeanoxHoe
AononHeHue (13.4.2).

1. We were offered some interesting books.

2. They were asked about it yesterday.

3. He was taught Latin and Greek at school.

4. They were shown many new exhibits.

5. The painter was assisted by two of his disciples.

6. This information should not be ignored.

7. He was asked to participate in the discussion.

8. They were told a lie.

9. We were informed about the results of their negotiations.
10. Nobody has been refused a chance to speak up.
11. He had been told the news before he left.

YnpaxHeHue 5. Mepeseaure npegnoxeHus, B KOTOPbIX CKasyeMoe
BbIPa)KeHO rNaronoMm, NpHHUMaIOLHM KOCBEHHOE NpegnoXHoe fo-
nonHenue (13.4.3).

1. A decision was arrived at.

2. The article is often referred to.

3. His words were listened to with great interest.

4. Error of this kind can often be met with.

5. Their conclusions can be relied upon.

6. These conditions, however, will be objected to by other scientists.
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7.
8.

9.
10.

I1.
12.
13.
14.
I5.
16.
17.
18.
19.
20.

21.

The work is often referred to in special literature.

No amount of selected examples, however convincing, can be relied
upon.

The structure is referred to as a pattern.

The congress was referred to as a most representative forum in this
field.

Some new approaches are dealt with in this paper.

For further details the reader is referred to the end of the book.
This case was much spoken and written about.

How is the phenomenon accounted for?

This method was done away with.

The new discovery is being much spoken about.

The terms were agreed upon.

This phenomenon has been dealt with since the 18% century.
They were listened to with great interest.

Some of the urgent problems of our work have been touched upon
here.

The problem will be dealt with in a number of papers.

YnpaxneHue 6. Nepesepnre npeano)xeHHs, B KOTOPBIX CKasyemoe
Bbipa)KeHO coyeTaHHWeM rnarona c cyuectesutenpHbiM (13.4.4).

1.
. Reference was made to his earlier publications.

. Mention has already been made of this phenomenon.

. This issue has been given special emphasis.

. In their discussion an account was taken of the environmental con-
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In this book emphasis is placed on the localization problem.

ditions.

. Recently the problem has been given much attention.
. His letter was not taken any notice of.

. This opportunity should not be lost sight of.

. The children were taken care of by their grandmother.
10.
11.
12.

His words have not been taken notice of.
No special attention has been paid to this research work.
Care must be taken in handling radioactive materials.
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14, CornnacoBanue BpeMeH

YnpaxHenne 1. [epesegurte npegnoxxeHus, obpawan BHUMaHHe Ha
cornacoBeaHue spemet (14).

1. They thought the methods differed.

2. They thought the methods would differ.

3. He indicated that his opinion was based on his experience.

4. He indicated that his opinion had been and would be based on his
experience.

5. We knew he was wrong.

6. He said he had known nothing about the decision at that time.

7. He writes that the weather has been bad there since November.

8. It was stated that the conclusion was right.

9. The first candidate thought that his chances for winning the election
were much greater than those of other candidates.

10. We were quite sure that the method now in use would give positive

results.

15. MogajanLHLIe I/1aroJibl

Ynpaxuenne 1. Nepesegure npegnoxenns, cogepxawye Mogann-
Hble rAaronn U #X akeusanenTsl (15.1—15.11).

1. One must work hard to learn a foreign language.
2. They may change the terms of the agreement.
3. The rules must be observed.
4. A number of reasons can account for these changes.
5. You may take a horse to water, but you cannot make it drink.
6. The longest day must have an end.
7. You need not come early.
8. One should think before one speaks.
9. You ought to be more careful.
10. He will be able to correct the program.
11. Man shall not live by bread alone.
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12. He has to check the program.

13. Deaf people are not able to hear.

14. The conference was to take place in London.

15. They will have to do the work once more.

16. The program is to be approved today.

17. You shouldn’t speak so loudly.

18. He will have to answer the question.

19. None are so deaf as those who will not hear.

20. They were not allowed to carry out the experiment.

21. You will have to overcome a lot of difficulties in your work.

22. According to the author this theory should hold in all cases.

23. The work need not be done.

24. We will have to take this result into account.

25. The faults of this work are hardly to be denied.

26. The requirements may not be observed.

27. Laws are to be observed.

28. The insurance company had to pay for the equipment damaged on
board the ship.

29. The firm had to give us a discount as the quality of the goods was
lower than that of the samples.

YnpakHeHue 2. lNepeseante npegnoxxeHus, obpawans BHUMaHue
Ha coYeTaHUA MORANBHDLIX FNAronos ¢ NepeKTHHIM HHPHHUTHBOM
(15.12).

. They must publish this article this year.

. They must have published this article last year.

. She may take this book.

. She may have taken this book .

. He can help you.

. He can’t have helped you.

. He may have forgotten about it.

. He can’t have said it.

. He ought to have attended the meeting.

. They need not have carried out the test once more.
. The problem should have been solved a year or two ago.
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12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.

28.
29.

The agreement might have been signed.

There must have been a question to him.

Life may have existed on that planet.

We need not have gone there.

She must have disagreed with their suggestion.

They ought not to have done it.

They can’t have come to this conclusion.

They must have taken into consideration all his corrections.
No living beings could have survived in such a climate.
She may have lost your address.

The flight must have been delayed.

You should have warned me yesterday.

He can’t have refused to help you.

You needn’t have gone into details.

He must have failed to persuade him to give up this plan.
They must have finished all the tests and we may soon learn the
results.

We didn’t know you were interested in this problem.

We should have sent you all the necessary information.

16. CociarareinHoe HAKJIOHEHHE

Ynpaxuenue 1. lNepeseaute npegnoxenns, cogepxaujue rnaron-
CcKasyeMoe B COC/laraTeNlbHOM HaKIOHEHHH, BLISIBNAR €ro ¢opmy
(16.1).

1.
2.
3.

4.
5.
6.
7.
8.

It would be next to impossible to do this work.

He would have done the work much better.

In such case this approach might be preferable.

Otherwise the agreement would not have been signed.

In this case our assumption would have been correct.

It is necessary that everybody be present.

Make haste lest you should be late.

It is recommended that all these calculations be made in time.
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9.

10.

1.
12.

13
14

16.
17.

18

25.
26.
217.

28.
29.

30.
31.

But for his assistance such an experiment would not have been
accurate.

It is desirable that the experiment should be carried out under these
conditions.

It is very important that they should be informed about it at once.
It was suggested that the results be announced immediately.

. The agreement might be signed immediately.
. It is necessary that you should take part in the discussion.
15.

It is essential that you should understand what your decision
means.

We’ll start early lest we should be late.

They gave us the information that might be useful in our work.

. It is essential that law be observed.
19.
20.
21.
22.
23.
24,

He advised that the information be published.

It is important that everybody have equal chances.

He feared lest he should be mistaken.

It would take much time to make such calculations.

But for his help they would not have finished their work.

It would not be reasonable to present the results of our research
NOw.

It is essential that the substance be chemically pure.

We suggested that the question should be discussed immediately.
It is important that we should carefully consider the actual
observations.

This problem might probably be considered as one of the most
difficult ones.

They demanded that payment should be made at once.

The work of managers is to ensure that staff work efficiently.

The world itself behaves as if it were an enormous but weak
magnet.

YnpaxHeHue 2. lNepeBegure npeanoxxeHus, coep)xaliue npuaa-
TOuHble NpeAnoXeHUn ycnoeHboie (16.2.2).

1.
2.

It would be better if some tests were repeated.
If you listened attentively, you would understand everything.

32



3
4

5.
6.

11.

12.
13.

14.
15.
l6.
17.
18.

19.

20
21
22

23
24

. He could do the work if he had time.

. Given the data were reliable, it would be possible to solve the

problem.

If the point were less important, it would be discussed tomorrow.

Granted (that) our actions have been correct, we could have

achieved the goal.

. Given that the system remained unaffected, it could be used
repeatedly.

JIf it were not for you, 1 would have solved the problem
differently.

. It would be better if some experiments were repeated.

. They would have changed their plans provided they could have

understood the importance of the event.

He would certainly have translated this article yesterday if he

hadn’t been so busy.

Indeed, we would be worried were this not the case.

They could have understood the task had he explained it more

clearly.

If I were you, I would follow his advice.

Had I helped you, you would not have made the mistake.

Had he realized the difficulty, he would have changed the plan.

One will easily calculate the volume if one knows the dimensions

of the body.

Provided certain basic requirements are met, the work can be

completed in time.

A valuable contribution would be made if considerable efforts

were devoted to the theoretic examination.

. They would finish their work earlier if they could get the necessary
equipment.

.Had it not been for their help, we would have failed in our
work.

. They could have done it themselves had they been there.

. We think he won’t come, but if he does, ask him to wait.

. Provided basic requirements are met, the work may be completed
in time.
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25. If they had used the latest scientific achievement, they would have
reached far better results.

26. Many companies would have lost their stable position if the reces-
sion continued.

27. Were it not for one important exception, a more general interpre-
tation of these findings would be persuasive.

28. If this theory were true, it would mean that the managers must pay
more attention to job content.

17. Undunntus

YnpaxHenue 1. MMepesegure npeanoxeHus, obpawas BHUMaHHe Ha
cdopmbt uHPHHUTHBA (17.2).

. I am sorry to interrupt you.

. I am sorry to have interrupted you.

. They are always glad to see him.

. They are glad to have seen him yesterday.

.1 want to be listened to attentively.

. He doesn’t like to be asked questions.

. I remember to have read this book.

. I remember to have been asked this question.

O ~J N B W

YnpaxcHeHue 2. Mepesepnte npegnoxeHus ¢ HHOUHHTHBOM B DYHK-
uuu nognexawero (17.3).

1. To read is the best way to learn about the world.

. To master a foreign language is not an easy matter.
. To choose the right time is to save time.

. To think otherwise is to make a mistake.

. To account for these phenomena is not easy.

. To get this job was important for him.

. To fulfill this work requires a lot of time.

. It is easy to be wise after the event.

0 O\ AW

YnpaxHeHue 3. lNepeBeante npeanoxxeHus ¢ HHPWHUTHBOM B
(hYHKLHUM YacTH COCTaBHOTO rnaronbHoro ckasyemoro (17.3). O6pa-
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THTE BHHMaHHWe Ha NepeBos NpeanoXKeHHH ¢ nepdeKTHBIM HHPUHHK-
TUBOM, CTOAIUM NOche Mmoaanbroro rnarona (15.12).

1. Our aim is to do this work properly.
2. Our task was to prove this hypothesis.
3. To know everything is to know nothing.
4. We are to meet these requirements.
5. You will have to overcome many difficulties in your work.
6. To do nothing is to have nothing.
7. The intention of the author has been to show some newly developed
methods.
8. In our experiment we are to compare the two gases.
9. Life may have existed on that planet.
10. You must have forgotten about it.
11. This house must have been built at the beginning of the century.
12. He is sure that something is about to happen very soon.
13. 1 have come to understand it only now.
14. The author failed to show this difference.
15. The negotiations failed to come to an agreement.
16. He managed to overcome many difficulties in his work.
17. These facts, however, fail to explain the cause of the process.
18. He could not fail to be influenced by this masterpiece.
19. Some scientists argue that a global disaster is about to happen.

20. The system will fail to perform unless the requirements are satis-
fied.

YnpaxHeHue 4. [lepeBegute npeanoXxeHus ¢ UHGHHHTHBOM B PYHK-
unu gononHenusa (17.3).

1. He promised to come on time.

2. They intend to take this fact into consideration.

3. He doesn’t like to be objected to.

4. We attempted to carry out this investigation.

5. Anyone can learn to use these tools.

6. He never forgets to register the results of the experiment.
7. They preferred not to change the conditions.

8. We hate to be betrayed.
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YnpaxHeHue 5. MepeBegute npeanoxxeHUA ¢ HHPUHHUTHBOM B (HYHK-
uuHu BTOpOro aononHeHus (17.3).

1. They made him tell the truth.
2. He was made to tell the truth.
3. The earthquake caused the layers to be removed.
4. Our task is to make theory and experiment agree as closely as
possible.
5. They force the students to make their own decisions from a wide
range of choices.
. This enabled all the corrections to be made in time.
7. The success of the experiment caused accurate calculations to be
carried out immediately.
8. The evidence is so far not restrictive and can be made to fit almost
any model.
9. Recent changes have prompted many countries to enter and
participate in the European organization.
10. On the one hand, it gives worldwide access to new technologies
and information, on the other hand it causes cultural diversity to
disappear.

(o}

YnpaxHeHue 6. [epeBegnTte npeanoxxeHNUa ¢ HHPHHHUTHBOM B QYyHK-
uuu onpegenerna (17.3).

1. There are many examples to illustrate the rule.
2. The terms to be insisted on are as follows.
3. One must have a home to come to.
4. He was the first to realize the importance of the event.
5. There are many considerations to be taken into account.
6. This is the main difficulty to be taken into consideration.
7. These printed lists contain material not to be found elsewhere.
8. There are two key comparisons to be made here.
9. The last problem to be considered is that dealing with new
equipment.
10. This is a rule not to be forgotten.
11. He was the first to pay attention to this peculiarity.
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12.
13.
14.
15.
16.
17.
18.
19.

20.
21

At that period of time he was the only scientist to support this
theory.

There are many problems to be solved immediately.

The only thing to do was to study these phenomena.

We observed the evaporation of water, a phenomenon to be more
fully described later.

The explanation will probably be considerably modified in the
years to come.

The report to be followed by a discussion will take place at
3pm.

The method to be followed is based on peculiar properties of this
substance.

Here are some more figures to be referred to later.

Most of the reactions to be studied are of this type.

The procedure to be followed depends on many factors.

YnpaxueHnue 7. Mepesepute npeanoxxeHus ¢ HHOHHUTHBOM B PYHK-
unn obcrontenpcrea (17.3).

1.
2.
3.
4.
5.
6.

7.
8.
9.

10.
11.

12.
13.

In order to give anything one must have something.

He walked slowly so as not to fall.

To have the right to command one must learn to obey.

To perform this work one must have all the necessary information.
The finds are too few to be spoken about.

All these conditions combine to make the problem very
complicated.

The effect is too small to be detected.

The method is not accurate enough to give reliable results.

These methods are too complicated to use them under these
conditions.

In order to understand the procedure, consider the following
analogy.

Elements combine to produce a compound.

We have known him long enough to trust.

Most of the population of these islands are farmers, but they do not
grow enough to feed themselves.
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14. Such terms are too broad to show either the inter-disciplinary
similarities or the intra-disciplinary differences of this approach.

YnpaxHeHue 8. lepeBeaute npegnoxxeHun c HHPHUHUTHBOM B DYHK-
LHH BBOAHOTO yneHa npeanoxenns (17.3).

1. To put it mildly, these data are wrong.

2. To begin with, we will read the text.

3. The first, fourth and seventh examples, to mention only a few, are

of no use.

4. To begin with, the error will not affect the result.

. Finally, to conclude this survey, we must emphasize once again
that extensive empirical work needs to be carried out in order to
support our assumptions.

6. Galileo and Newton, to mention only the most prominent men of

science, were founders of classical mechanics.

(9]

YnpaxHenue 9. Nepesegnte npeanoxeHus u onpeaennte hyHKUUIO
HHhHUHHTUBA, CTOALLETO B Hauane npeanoxxenusn (17.3).

1. To read much is to know much.

2. To read much one must have a lot of time.

3. To solve this problem is very important.

4. To solve this problem we had to involve experts.

5. To understand this author is not easy.

6. To understand this author better you should read some of his other
works.

7. To meet all these demands requires time.

8. To meet these demands some changes must be made.

18. MupuaNTHBHBbIE KOHCTPYKIIHH

YnpaxHenue 1. MNepeseanute npegnoxxeHns, cogepxauine HHGUHH-
TUBHYIO KOHCTPYKLY IO Cs10XKHOe dononHenue (18.1).

1. We know him to study hard.
2. We know him to have studied hard.
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3. He considers these data (to be) very valuable.
4. They expect the book to be published next year.
5. We consider him (to be) responsible for this error.
6. We take the value to be constant.
7. We consider the work to have been done properly.
8. We know Australia to be the only continent situated in the southern
hemisphere.
9. We know copper to contain carbon.
10. We often hear people complain.
11. T expect you to agree with all that I say.
12. I have heard the news and find it very important.
13. Few statisticians consider this procedure to be reasonable.
14. We didn’t expect the weather to change.
15. We may assume this to be the case.
16. Everybody expected the report to be a success.
17. Some of the ancients held the matter to be composed of atoms.
18. One may safely expect this prediction to be quite reliable.
19. During the Middle Ages people believed the earth to be flat.
20. People from different countries may find it difficult to understand
each other.

YnpaxxHeHHe 2, MepeBepute npepnoXeHus, coaepxaiyne HHPUHU-
THBHYIO KOHCTPYKUMIO CJ1oXkHOe nodnexauiee (18.2).

1. The approach is reported to be effective.
2. Their team seems to have won.
3. There seemed to be nobody inside.
4. The expedition is said to have collected very interesting data.
5. He is unlikely to be forced to do something, if he doesn’t want
to.
6. Your English seems to be getting better.
7. They are unlikely to have said that.
8. These conditions have been assumed (to be) identical.
9. The real situation is likely to be very complex.
10. The new method is believed to have given good results.
11. The Japanese are considered to be very hard-working.
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12.
13.
14.

15.
16.
17.
18.

19.
20.
21
22.
23.
24.
25.

26.
27.
28.
29.
30.

31

32.

33.

This approach is unlikely to be successful.

This alternative turns out to be the most preferred one.

The problem is known to have interested chemists for many
years.

His hypothesis proved to be correct.

His hypothesis was proved to be correct.

The value is taken to be zero.

These data have been found to be in good agreement with those
predicted.

They seem to have given up this point of view.

The point was supposed to have been included into the plan.
They are said to have made great progress.

Historians appear to know very little about his life.

There does not appear to be a clear answer to this question.
Oxford is believed to have been founded around 1167.

The average temperature in January is reported to have been
considerably lower than last year.

The question doesn’t seem to be of paramount importance.

The preliminary report appears to be a bit hazy on one issue.
This method has been shown to provide equal or superior results
compared to other existing methods.

The financial crisis appeared to have affected different regions of
the country.

This method can be considered (to be) an appropriate tool for the
observation of this phenomenon.

In economics, the arithmetic value of a dollar is assumed to be
the same no matter whether a person has only one or a million
dollars.

The Chinese word for mother is ma, even though Chinese is
not supposed to have any connection with the languages of the
West.

Human beings seem to have had the power of speech as far back as
history can trace them; and animals, while they can make certain
limited sounds and at times give them certain limited meanings,
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cannot be said to possess speech in the same sense that humans
possess it.

34. These arguments for identifying risk categories relating to gas
projects appear to be limited because domestic and international
gas markets are expected to develop significantly further over
time.

35. Since the time a worker has spent in the labour market is likely to
affect both the number of offers he receives and his productivity,
I need to explicitly condition expectations on how long the worker
has been active in the labour market.

Ynpaxuenune 3. lepeBefnte npeanoXXeHUsn, COAepXKAUIME KOH-
CTPYKUHIO CAOXKHOE rnodnexaujee B NPUAATOUHOM NPeRIOKEHUH
(18.2.3).

1. The experiment reported to have given good results was a
success.

2. The article likely to be published in this magazine deals with the
problem under consideration.

3. These data represent the results likely to be obtained.

4. The following methods are among those proved to be most
useful.

5. Now let us turn to the words likely to bave taken their origin in
Latin.

6. Now we will describe some objects thought to belong to this
class.

7. The experiment believed to have proved successful will be
discussed at the conference.

8. The question is how closely these parameters represent the results
likely to be obtained in practice.

9. All circumstances believed to affect the accuracy of the measure-
ments should be carefully observed.

10. Here is the apparatus likely to give the results required.
11. Mendeleyev predicted the eventual discovery of certain elements

assumed to be missing from the table.
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Ynpaxuenue 4. Mepesegute npegnoxeHns, copepyauiue nHouHu-
TUBHYIO KOHCTPYKUMIO ¢ npeanorom for (18.3).

O 00 NN AN

b
=]

11.
12.
13.
14.
15.

. This is the only thing for you to remember.

. It is necessary for you to be here at four o’clock.

. Two years were sufficient for the work to be done.

. The text was too difficult for him to translate without a dictionary.
. There is a tendency for the method to be used in all the experiments.
. Two conditions must be met for this event to occur.

. There isn’t enough time for the article to be published.

. This is for the reader to judge.

. It is possible for a word to consist of only one sound, as when you

say a in a house.

. For the transfer to be efficient it is necessary that the process be

adequate.

The only conclusion for him to draw was the following.

The print is too small for me to read.

It is now longer possible for us to focus only on our own concerns.
For this book to be published some corrections are to be made.
The protocols around this process need greater clarity for this
system to function effectively.

19. Ilpuyacrue

19.1. MNpuuacrue |

YnpaxHeHue 1. MNepeeeaute npeanoxeHus, cogepxaiiue npuya-
ctue | B pyHkumm onpesenennn (19.1.5).

1.
2.
3.
4.
3.
6.

People studying foreign languages should work hard.

The resulting effect was very important.

We’ll consider all the changes resulting from our actions.

Any changes resulting in such an effect are important.

The questions being asked now are not very difficult.

They referred to the articles dealing with the problem under con-
sideration.
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7. The discussion following the lecture was a success.
8. The research being done by this scientist is of great significance.
9. They did not take into consideration factors affecting the resuits.
10. The work being done by the research team is of great
importance.

11. The changes resulting from our actions influenced the conditions
being used.

12. The moving parts of any machine must be oiled.

13. The conclusions being drawn are based on recent finds.

14. The country embracing over four million of square miles and
being larger than the whole of Europe, contained but about two
million inhabitants.

YnpaxHenue 2. lepesepgure npepioxeHnn, coaep)kauime npuya-
ctie | B pyHKunn obcroatenncrea (19.1.5).

—

. Studying foreign languages, people should work hard.

. Being busy he could not come to the meeting.

. Selling machines he makes much profit.

. (While) reading books, I make notes.

. Writing my report, I mentioned some reliable data.

. One should be very attentive playing chess.

. Having asked this question, he didn’t expect a positive answer.

. Having been asked this question, he refused to answer it.

. Water, having weight and occupying space, is a form of matter.

. Carrying out his research the scientist made an important disco-

very.
. (While) considering one problem, we found a solution of another
one.

12. Not knowing the language they were speaking, I couldn’t under-
stand a single word.

13. Having been sent by e-mail, the information was received very
quickly.

14. Having been kept without water for a long time, the flowers
faded.

15. Working in the centre of a big city, he rarely used his car.

O OO JON Wbk

—

—
[y

43



16. Knowing the right answer, one should answer as quickly as
possible.

17. Speaking good English, she was able to find a job really quickly.

18. Having considered the matter carefully, we arrived at a definite
decision. .

YnpaxHeHnue 3. Mepeseante npegnoxeHus, copepawiue npuua-
ctHe | B (hyHKUWM BBOAHOTO uneHa npeanoxxeHus (19.1.5).

1. Summing up, we must point out the following issues.

2. Judging by the data, referred to here, the experiment was a
failure.

3. Strictly speaking, the economic prospects for the coming year are
gloomy.

4. Judging by this finding, the information is correct.

5. Speaking somewhat inexactly, it may be said that a language is the
product of the thought of a nation.

19.2. MNpuuactue I

Ynpaxuenue 1. [epeseaute npegnoxkeHus, copeprxaiiue npuua-
ctue ll B pyHkuuu onpepenerna (19.2.1).

1. Most people invited were my colleagues.
2. The fact mentioned was of great interest.
3. The method used resulted in a discovery.
4. Danger foreseen is half avoided.
5. The produced goods are in great demand.
6. All the factors studied affected the results.
7. The results obtained remained the same.
8. We hope that the theoretical background given will be adequate.
9. It was not possible to present in this book all the information
obtained.
10. We took advantage of the approach mentioned in his article.
11. The knowledge gained on the subject during the past decade is
rather important.
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12. The machines sold yesterday were sent back.

13. The obtained results were summed up.

14. The method developed helped us to understand this phenome-
non.

15. 1t is necessary that the device be used in accordance with the
specification enclosed.

16. All the information received by us yesterday was very important.

17.The first thousand dollars earned is much more important than the
first thousand dollars earned after a million.

18. The lecture followed by a film was very interesting.

19. The technique followed by the scientist is absolutely new.

20. The question answered by the student was difficult.

21. The process affected by the correction followed a different
course.

22. The method followed by this research team is very compli-
cated.

23. The information relied upon by the scientist proved incorrect.

24. This is the article so much spoken about.

25. The terms insisted upon are difficult to fulfill.

26. The data as referred to in this paper are quite reliable.

27. The congress attended by scientists from several countries was
held in London.

28. The review is divided into three parts followed by a brief
comment.

29. The books referred to here were published long ago.

30. The lecture followed by a heated discussion was a success.

31. The issues dealt with in his report are of great interest.

32. The principal materials affected by magnetism are iron and steel.

33. The method used is the same as that employed in the previous
section; for this reason the example chosen will not be analyzed
in detail, but the results obtained will be discussed briefly.

34. Innovations successfully used by one country quickly became
available in other countries.

35. Scientific productivity is difficult to measure, largely because of
the difficulties involved in estimating the quality of an article.
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YnpawHenue 2. MepeBeante npepnoXeHus, coaepxaline npuva-
crue Il 8 hynkuuu obcronrenvcrsa (19.2.1).

1. Carried out under favorable conditions, the experiment was a
success.
2. Unless otherwise stated, thé value will be considered constant.
3. Considered from this point of view, the example secems
convincing.
4. Unless otherwise specified, the condition is as follows.
5. Written in English, the article became widely known.
6. Formulated in such a way, the theory is not at all complicated.
7. The article, published as it was in a small magazine, remained
unknown to other specialists.
8. Made of stone, this house has stood here for centuries.
9. We can follow this method unless otherwise stated.
10. Properly arranged, the data could be of some interest.
11. Given certain conditions, such work can be done by anybody.

YnpaxHeHue 3. Nepesegure npeanoxeHun, obpawias BHHMaHHe Ha
3HaueHHMA npuyacTuii involved n concerned (19.2.1).

1. He wrote to the people concerned.

2. None of the authors concerned had based their experiment on this
method.

3. The changes involved took place in the 19th century.

4. The area concerned was divided into a number of small political
units.

5. Each of the parties concerned became interested in the matter.

6. Every known plant or animal is given a Latin scientific name
irrespective of the language of the country concerned.

7. Now we can proceed to a discussion of the factors involved.

YnpaxxHenue 4. lepesegute npeanoxexusn, cogepxauine npuua-
ctue ll B pyHKUuKM BBOgHOTO uneHa npeanoxenus (19.2.1).

1. Simply stated, the explanation given is not complete.
2. As already observed, the work under consideration does not focus
on the model.
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3.

4.

5.

As pointed out previously, they differ in their attitude to this phe-
nomenon.

As emphasized above, there is evidence that this may not be the
case.

As expected, the reaction proceeded smoothly.

20. IlpuyacTable KOHCTPYKIUH

YnpaxHeHue 1. Nepepeaute npepnoxkeHus, cogepxaline He3aBH-
CHMYIO NPHYACTHYI0 KOHCTPYKuHIo (20.1).

10.

11

12.

13,

. The signal given, the process started.
.Measurements having been carried out, we began the

experiment.

. With all values being constant, we can foresee the result.

. With other conditions being equal, the process will not change.

. One link broken, the whole chain is broken.

. There being no fuel in the tank, the car stopped.

. With the structure of various companies being different, the model

is often inadequate in each particular case.

. Forty-two schools were established by 1722, the principal subjects

taught being arithmetic and geometry.

. There being no atmosphere, the lunar surface is exposed to direct

sunlight.
A university was established at Constantinople in 425, teaching
being conducted both in Latin and Greek.

. The northern shores of the Caspian Sea are frozen every winter,

ice remaining for some hundred days in the colder parts.
Copemicus placed the Sun at the centre of the Universe, with the
Earth and other planets revolving around the Sun and the Moon
alone revolving around the Earth.

This being the method known to us all, and known to be
successful, we naturally concluded that it was known also to
other scientists.
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YnpakHeHue 2. [epeseauTe npeanoxeHus, cogepxawue npuyacr-
HYI0 KOHCTPYKUHIO CoXHOoe donorHeHue (20.2).

1. We saw the plane taking off.

2. He heard the clock striking twelve.

3. We consider matter being built of atoms.

4. We disliked the problem being treated in this way.

5.1 heard his name called out several times.

. We watched the rocket launched.

. They heard the new results obtained.

. We regard the problem as having been solved long ago.

. We disliked the problem being treated in this way.

. They have already mentioned this method as affording good
results.

11. We watched the sun setting behind the mountains.

12. Sometimes we find the simple present tense used instead of the

simple future.

S O 00 N

YnpaxHeHnue 3. Mepeseante npepnoxeHusn, copgepmalide Kaysa-
TUBHYI0 (nobyauTenbHy0) KoHcTpykyuio (20.2.4).

1. I want to have my watch repaired.

. We have had the device tested.

. I"'ll get the windows cleaned this week.

. They’ve had their house repaired.

. I need to have this computer fixed as soon as possible.

. He gets his car serviced every two months.

. I want to have this contract checked thoroughly before I sign it.

. The king did not like his new palace: he had the building pulled
down and rebuilt.

CO 3 O b AW N

YnpaxxHeHue 4. [epeseaute npepnoxeHus, copepaiyme npuyacr-
HYIO KOHCTPYKUHIO C/I0)KHOe nodnexauyee (20.3).

1. The problem seemed solved.
2. A permanent income is often taken as having been established.
3. The find was identified as belonging to the 5th century.
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4. The technique was considered as being very useful.
5. The technique considered as being useful has been widely used.

YnpaxueHue 5. lepeBeaurte npeanoxkeHus, cCoaepKalime JUIMNTH-
yecKHe NPHYACTHbIE KOHCTPYKUKWH (20.4).

1. If taken separately these words mean the following.
2. Once started the work must be finished.
3. If translated into European languages this historical work may
prove helpful to historians.
4. In the 18th century when seeking for gold and silver many Euro-
peans went to the newly discovered continent of America.
5. The acceleration of a body when falling is constant.
6. A gram of water changes exactly to a gram of ice when freezing
and to a gram of water vapor when evaporating.
7. Until done properly, the work will be of no value.
8. The plan is useless unless corrected.
9. That lesson, once learned, is never forgotten.
10. When heated water changes into invisible gas.
11. Note, however, that there are some important limitations of the
techniques when used in this form.

21. I'epynanit

YnpaxHeHnune 1. MNepeseante npepnoxeHna, cogep)kawiue repyH-
Avd B hyHKuMKu noanexaiwero (21.3).

1. Making these calculations is a very difficult and time-consuming
procedure.

2. Solving mathematical problems is a difficult job.

3. Making a decision is a complex process.

4. Defining problems precisely takes a lot of time.

5. Doing is better than saying.

6. Having access to the internet is a huge advantage for everybody.

7. Helping him proved useless.

8. It is worth (while) checking the results.
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12.

13.

. It 1s no use crying over spilt milk.
10.
11.

It is worth remembering this rule.

It is worth noting that a rich variety of algorithms have been
proposed over the years.

It is thus worth stressing that some of the approaches outlined
above are more general than this one.

Finding and using alternative sources of energy, learning how to
save and conserve energy, creating highly effective systems of
communication, recycling and reusing materials, exploring the
underwater world, studying ancient civilizations are, to mention
only a few, some of the urgent problems scientific minds are
working at.

YnpaxHeHue 2, Nepeseante npeanoXkeHus, cogepxaiyue repyH-
AW B QYHKLMM YaCTH cKasyemoro (21.3).

I.
. The main requirement is observing the rules.

. They continued checking the results.

.1 cannot help thinking about it.

. Two special issues are worth discussing.

. The book is not worth reading.

. They could not help telling us the results of the talks.
. He had to give up experimenting.

9.
10.
1.
12.
13.
14.

O 0 ON L W

Our aim is solving the problem.

Stop worrying and start living.

They started working two days ago.

These words are worth remembering.

These data are worth being included into our report.

This article is worth being translated into foreign languages.

No use changing the conditions of the experiment, I am sure the
results will be the same.

YnpaxHenue 3. Nepesepute npepnoxxeHusn, coaepxalime repyH-
AnA B (PyHKLUUM gononHeHun (21.3).

1.
2.

He succeeded in obtaining exact data.
They do not like asking questions.

50



They do not like being asked questions.

The scientists' names deserve mentioning.

I don’t mind helping you.

We objected to combining the two approaches.

He was fond of doing nothing.

They object to using this method.

9. I prefer doing this work now.

10. Please stop arguing.

11. I do not mind reading this author, I like the way he writes.

12. We are responsible for carrying out this experiment.

13. This resulted in changing the terms of the agreement.

14. He dislikes being interrupted.

15. He regretted having interrupted you.

16. There is hardly any person who likes being criticized.

17.1 object to discussing this problem now.

18. Would you mind talking about it now?

19.1 cannot accuse him of being lazy, but still he is rather poor at his
English.

20. He objects to being disturbed when he is busy.

21. He avoided discussing the matter.

22. The problem deserves being discussed at the conference.

23. 1 don’t mind being criticized when it is fair.

24. Nothing prevents us from trying.

25. They do not seem to mind including these data into his report.

© N oL R W

Ynpaxunenue 4. MNepeseaute npegnoxeHun, cogepxaine repyH-
Awit B hyHKLUUHK onpegenenun (21.3).

1. The planning stage is the most important one.

2. There are some other reasons for questioning this theory.

3. The classification proposed here has the advantage of being
relatively simple.

4. Tt has been said that the two oldest and greatest inventions of man
were the wheel and the art of controlling fire.

5. Evidently, our power of making this comparison depends upon
our knowledge of the things to be compared.
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6. Give your reasons for choosing this particular university or college.

7. They must find ways of making jobs more challenging and
interesting,.

8. Those who find no intellectual pleasure in reading foreign langua-
ges, or perhaps even in trying to read them, must admit that some
ability to do so is of practical value.

Ynpaxuenue 5. Nepesegure npegnoxxeHns, copaepxauine repyH-
Anit 8 pyHKuun obcroarenncrsa (21.3).

1. The temperature may be increased by heating.
2. Do not do anything without thinking.
3. Be slow in choosing a friend, slower in changing him.
4. After having finished the experiment the scientist described it in
his article.
5. Indiscussing the problem they touched upon some very interesting
items.
6. He liked to do things without disturbing anyone or being
disturbed.
7. We will close the chapter by considering one more model.
8. In solving problems it is necessary to distinguish between facts
and hypotheses.
9. Besides being involved this procedure is very costly.
10. On completing the experiment we discussed the results.
11. Before answering a question you should think twice.
12. They promised not to undertake any actions without consulting
their partners.
13. 1t is necessary that a machine undergo a thorough test before
putting it into operation.
14. Globalization allows people to learn about different cultures
without leaving their home towns.
15. In dealing with statistical data it is important to have all factors
involved.
16. Such a program could be financed without seriously affecting the
federal budget.
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17. Communication is instant: people can phone, exchange e-mails
and even participate in international meetings through video
conferences without leaving their place of work.

YnpaxkHeHue 6. lepesegure npeanoXxeHnn, copepxailine repyHaH-
anbHble KOHCTPYKUHH (21.5)

1. He insisted on your taking part in the conference.
2. 1 object to your discussing this problem now.
3.1 talked to him about my visiting China.
4. This is a result of our not having read the article to the end.
5. We could not help seeing his having neglected the proposal.
6. They insisted on the sample being tested repeatedly.
7. We are interested in the test being carried out repeatedly.
8. We rely on the experiment having been conducted correctly.
9. He is responsible for the program not having been corrected in
time.
10. The mistake resulted from the device not having been mended
before the test.
11. This was due to her not having understood the question.
12. His having changed his mind was not a surprise to anyone.
13. They never complained of the conditions of their work being too
hard.
14. One of the conclusions is that without language there is no un-
derstanding among people, and without understanding there is no
chance of their being able to work together.



HroroBasi KOHTpo/ibHas padoTa

Ies» nTOroBolt KOHTPOJILHOUW PabOTH — IIPOBEPHTH YCBOCHUE
TIOJTy9EHHBIX 3HAHUI 10 ITpaMMaTHKe aHIJIMACKOTO A3bIKa U BBIIBUTH
BO3MOJKHBIE ITPOBENEl X HENOYETEI.

ITpencrasnexHHble TPM BapHaHTa KOHTPOIBHON paboTel mpenia-
raeTcs BHIITONHUTE B JIIOOOH 1OC/IEI0BATENEHOCTH.

Bce BapHaHTEI YHUGHLIMPOBAHI 110 TPAMMATHYECKIM SBIICHHUSM,
BKJTIOYCHHBIM B Npemokenys. Takas ¢opma npeacTaBiIcHHS Mare-
puana B KOHTPOJBHOH pabore maeT BOBMOKHOCTH NMPOBOIMTH IMpPO-
BEPKY U aHAIIU3 Pe3y/IbTaToB Hanboiee 3¢hGeKTUBHO.

1—2 — cTpazarenbHbIi 3a10T,

3—4 — repyHaui,

5 — npuygactue I,

6—7 — npuuactue I,

8—9 — He3aBUCHMBIH IIpUYacTHEIN 060pOT,

10 — cocnararenbHOE HaKIOHEHHE,

11 — coderanue MOJAJIbHBIX IVIAr0NOB ¢ NepdEeKTHHIM HHPUHU-
THBOM,

12 — nBoiiHoe oTpUllaHne HHOUHUTUB B QYHKIAH ONpENeIICHUS,

13—14 — nHOUHATUBHAS KOHCTPYKLHUS CI0X#CHOEe OONONHEHUe,

15—17 — uHQUHUTUBHASA KOHCTPYKIIIS CIOXMCHOE nodaexcauyee,

18 — uHGUHUTUBHAS KOHCTPYKUMUS for-phrase,

19 — smdarugeckas UHBEpCH,

20 — smdarudeckas KOHCTPYKUuA if is... that,

21 — CIIOKHOIIOTYHHEHHOE NPEIIOKEHUE.



Bapuanr 1

1. Nobody has been refused a chance to put forward their ideas for
discussion.

2. In our experiment this new technique has been made use of.

3.1 do not mind reading this author, I like the way he writes.

4. This article is worth discussing right now.

5. The problems being discussed at the conference are very
important.

6. This method is the one followed in preparing my work.

7. The results obtained may be summed up in one simple rule.

8. These are articles on the subject, many being translations from
Arabic.

9. This approach can be applied to both countries, the former having
highly developed industry.

10. If we gathered together the greatest chemists of the world and
asked them how many chemical compounds can the elements of
the Periodic System form, they would be unable to answer the
question.

11. This matter cannot have been settled so easily.

12. This case is not uncommon.

13. The problem to be solved at this stage is entirely scientific.

14, Some of the ancients believed the matter to be composed of
atoms.

15. The atmosphere has been proved to extend several hundred
kilometers.

16. The effect believed to be due to these conditions can be easily
demonstrated.

17. They can hardly be said to have discovered this phenomenon.

18. For this book to be published some corrections are to be made.

19. This effect has been neglected in this particular case. Nor could it
have been predicted quantitatively from these considerations.

20. It is only under these conditions that satisfactory results can be
achieved.

21. The facts the newspaper referred to are left out of conside-
ration.
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Bapuanr 2

1.
2.
. They could not help paying attention to these data.

. These data are worth being-included into our report.

. The approaches being used in this experiment will largely affect

B W

~N

10.
11.

12.
13.
14.
15.
16.

17.

18.

19.

20.

21.

These phenomena will be dealt with in a number of articles.
Account is always taken of such corrections.

the result.

. The temperature affected by these conditions has changed.
. Each of the parties concerned became interested in the matter.
. The speed of light being extremely great, we cannot measure it by

ordinary methods.

. The figure represents an animal, its total length being two

inches.

If you won a great deal of money, would you continue working?
The book by this author must have been referred to in the
report.

It is not unlikely, however, that the technique will be success-
ful.

Lomonosov was the first to lay the foundation for the scientific
study of the Russian language.

Experience shows this approach to have given good results.

He doesn’t seem to mind including these data into his report.

The article likely to be published in this magazine deals with a
very important problem.

Although this highly theoretical treatment does seem to predict the
same results as simpler models, it has not yet proved very useful
for describing practical materials.

For this transfer to be efficient it is necessary that the process be
adequate.

We did not pursue this study any longer; nor did we mean to
resume it in the foreseeable future.

It was in the compass that magnetism first found a practical
use.

They had to find the fault, which was not easy.
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10.
11.
12.
13.
14.

15.
16.

17.

18.
19.

20.

21.

BapuanTt 3

. The conclusion was arrived at after heated debates.

. Mention has been already made of these phenomena.

. We can’t help taking interest in this field.

. They succeeded in getting reliable information on the subject.

. The attention being given to this article demonstrates the important

role of the involved problem.

. These manuscripts are somewhat newer than those referred to in

the preceding paragraph.

. After we have defined our terms we may proceed to a discussion

of the processes involved.

. Silver being very expensive, we only rarely use it as a conductor.
. There were many delegates at the congress, a lot of reports being

delivered and discussed.

Most people, asked if they could think without using speech,
would probably answer ‘yes’.

This house must have been built at the end of the 19th century.

It was not until 2014 that this law was approved.

There are many considerations to be taken into account.

The economists believe people to satisfy their needs
systematically.

She is unlikely to have said it.

The experiment believed to have proved successful will be
discussed at the conference.

Even the most primitive people are found to have well developed
language.

The stars are much too remote for the astronomers to study them.
They could not identify the model. Neither could they carry out
the experiment once more.

In our model, it is the seller (not the buyer) who controls how
much information the buyers acquire.

The problem is to be taken into consideration, which is very
important.



Yacts [I. TECTOBBIE 3ATAHUSA 110 TPAMMATHKE

BrumarensHo mpouunTtaiite npemioxenue. [ToquepkHyTas 4acTb
MOXeT cofepxkarh omubky. 13 geTripex npenokeHHBIX BApHAHTOB
BeIOCpUTE CAMHCTBEHHO NpaBIILHENA. Bapuant (A) sBiseTCS NOBTO-
peHHeM NMOTYEPKHYTOR YacTH MPEATIOKEHHS.

1. Her brother along with her parents insist that she remain in
school.

(A) insist (C) are insisting
(B) insists (D) were insisting

2. Most students like to read these kind of books during their spare
time.

(A) these kind of books (C) this kind of book
(B) these kind of book (D) this kinds of book

3. In the normal course of events, John will graduate high school
and enter college in two years.

(A) John will graduate high school and enter

(B) John will graduate from high school and enter

(C) John will be graduated from high school and enter

(D) John will be graduated from high school and enter into

4. The process by which the community influence the actions of its
members is known as social control.

(A) influence the actions of its members

(B) influences the actions of its members

(C) had influenced the actions of its members
(D) influences the actions of their members

5. Neither the judge nor I am ready to announce who the winner is.

(A) Neither the judge nor I am ready to announce who the
winner is.
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(B) Neither the judge nor I are ready to announce who the
winner is.

(C) Neither the judge nor I are ready to announce who is the
winner.

(D) Neither the judge nor I am ready to announce who is the
winner.

6. Knowing little algebra, it was difficult to solve the problem.
(A) it was difficult to solve the problem.
(B) the problem was difficult to solve.
(C) 1 found it difficult to solve the problem.
(D) the solution to the problem was difficult to solve.

7. Since we are living in New York for five years, we are reluctant
to move to another city.

(A) Since we are living

(B) Being that we are living
(C) Being that we have been
(D) Since we have been living

8. He interviewed several candidates who he_thought had the
experience and qualifications the position required.

(A) who he thought

(B) whom he thought
(C) of whom he thought
(D) which he thought

9. Before starting a program of diet and exercise, a_consultation
with your physician is advisable.

(A) a consultation with your physician is advisable.

(B) it is advisable to have a consultation with your physician.
(C) aphysician’s consultation is advisable.

(D) you should consult your physician.
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10. Economic conditions demand that we not only cut wages and
prices but also reduce inflation-raised tax rates.

(A) that we not only cut wages and prices but also
(B) not only cutting wages and prices but also to
(C) not only a cut in wages and prices but also to
(D) not only to cut wages and prices but also to

11. Fame as well as fortune were his goals in life.
(A) Fame as well as fortune were his goals
(B) Fame as well as fortune was his goals
(C) Fame as well as fortune were his goal
(D) Fame and fortune were his goals

12. If she were I, she would have accepted the prize if she had won it.

(A) were I, she would have accepted the prize if she had won it.

(B) was I, she would have accepted the prize if she would have
won it.

(C) was I, she would have accepted the prize if she had won it.

(D) were 1, she would have accepted the prize if she would have
won it.

13. After several days’ tour, we became convinced that the climate
of this deserted island was like Florida in winter.

(A) the climate of this deserted island was like Florida in winter.

(B) the climate of this deserted island was like that of Florida in
winter.

(C) the climate of this desert island was like Florida in winter.

(D) the climate of this deserted island in winter was like Florida.

14. The students have always had a_most sincere interest and
admiration for the important work of Professor Jakobson.

(A) a most sincere interest and admiration for
(B) a most sincere interest in and admiration for
(C) mostly a sincere interest and admiration for
(D) a most sincere interest and an admiration for
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15. Last night, our guest lecturer spoke about the methods of

controlling population growth, the dangers involved in manipulating
nature, and how to calculate potential change in species’ size.

(A) the dangers involved in manipulating nature, and how to
calculate

(B) the dangers involved in manipulating nature and in
calculating

(C) how to manipulate nature, and how to calculate

(D) the dangers involved in manipulating nature, and the method
of calculating

16. Although he was the most friendly of all present and different

from the others, he hadn’t hardly any friends except me.
(A) different from the others, he hadn’t hardly any friends except
(B) g;;t'"erent than the others, he had hardly any friends except
© firilgferent from the others, he had hardly any friends except
(D) g;t?t.'erent than the others, he hadn’t hardly any friends except L.

17. Tt was us who had left before he arrived.

(A) us who had left before he arrived.

(B) we who had left before he arrived.

(C) we who had went before he arrived.

(D) we who had left before the time he had arrived.

18. He found the new job more preferable to the one he had left so
he decided to continue on for a while.
(A) more preferable to the one he had left so he decided to
continue on
(B) preferable to the one he had left so he decided to continue on
(C) more preferable to the one he had left so he decided to
continue
(D) preferable to the one he had left so he decided to continue
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19. Knowing that the area was prone to earthquakes, all the buildings
were reinforced with additional steel and concrete.

(A) Knowing that the area was prone to earthquakes,

(B) Having known that the area was prone to earthquakes,
(C) Since the area was known to be prone to earthquakes,
(D) Since they knew that the area was prone to earthquakes,

20. John would never have taken the job if he had known what great
demands it would make on his time.

(A) if he had known

(B) if he knew

(C) if he had been knowing
(D) if he knows

21. His wife awoke him because he forgot to set his alarm before he
went to bed.

(A) awoke him because he forgot to set his alarm before he went
to bed.

(B) awoke him because he forgot to set his alarm before he had
gone to bed.

(C) had awakened him because he forgot to set his alarm before
he went to bed.

(D) awoke him because he had forgotten to set his alarm before
he went to bed.

22. If 1 knew better, ] would have insisted that he change the hour of
the lecture.

(A) I would have insisted that he change
(B) I would have insisted that he changed
(C) I would insist that he change

(D) I would insist for him to change

23. Anyone wishing to enroll in program should send in their
applications before the fifteenth of the month.

(A) send in their applications
(B) send their applications in
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(C) send in their application
(D) send in his application

24. Start the actual writing only after having thoroughly researched
your subject, organized your notes, and you have planned an
outline.

(A) you have planned an outline.
(B) planned an outline.

(C) you having planned an outline.
(D) an outline has been planned.

25. Tests show that catfish from this lake are safe to eat, even though
they contain almost twice as much of the pesticide DDT this year
than they did five years ago.

(A) than they did

(B) more than they did

(C) as they did

(D) than they had contained

26. Seventy-four applications were received, of whom the better
were selected for detailed review.

(A) of whom the better were selected
(B) from which were selected the better
(C) the best of which were selected

(D) from which they selected the best

27. Health care costs have been forced upward less by increases
in the salaries of nurses, technicians, and other personnel than
by _increases in the amounts spent on diagnostic machinery and
electronic equipment.

(A) than by increases in the amounts
(B) than the amounts

(C) but by increases in the amounts
(D) but by increases in the amounts
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28. The press secretary announced that neither himself nor_the
President would be available for questions until they had had more
time to examine the report.

(A) neither himself nor the President would be
(B) neither he or the President was

(C) neither he nor the President would be

(D) he and the President will not be

29. Current scientific theory suggests that the dinosaurs were, in fact,
one of the most spectacularly successful groups of organisms ever
developed in the course of evolution.

(A) groups of organisms ever developed

(B) group of organisms that have been developed
(C) groups of organisms to ever be developed
(D) group of organisms to be developed

30. He noted the dog’s soft hair, strong legs, and keen sense of

smell.

(A) the dog’s soft hair, strong legs, and keen sense of smell.

(B) the dog’s soft hair, strong legs, and that his sense of smell
was keen.

(C) the dog’s soft hair, and that his legs were strong and sense of
smell was keen.

(D) the dog’s soft hair, and that his legs were strong and smell
was keen.

31. Of the two candidates for this government position, Jason Harold
is the most qualified because of his experience in the field.

(A) most qualified because of
(B) most qualified due to
(C) more qualified due to
(D) more qualified because of
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32. If anyone calls while we are in conference, tell them that I will
return their call after the meeting.

(A) them that I will return their call after the meeting.

(B) him or her that I will return their call after the meeting.
(C) them that I would return their call after the meeting.
(D) the person that I will return the call after the meeting.

33. Neither the earthquake or the subsequent fire was able to destroy
the spirit of the city dwellers.

(A) or the subsequent fire was
(B) nor the subsequent fire were
(C) or the subsequent fire were
(D) nor the subsequent fire was

34, With the exception of Frank and I, everyone in the class finished
the assignment before the bell rang.

(A) Frank and I, everyone in the class finished

(B) Frank and me, everyone in the class finished

(C) Frank and me, everyone in the class had finished
(D) Frank and I, everyone in the class had finished

35.1 have studied the works of George Bernard Shaw not only for
their plots but also because they are very witty.

(A) also because they are very witty.
(B) because they are also very witty.
(C) because they are very witty also.
(D) also for their wit.

36. Whoever objects to me going to the convention ought to state his
position promptly.

(A) Whoever objects to me
(B) Whomever objects to me
(C) Whomever objects to my
(D) Whoever objects to my

65



37. Except for you and 1, evervone brought a present to the party.

(A) Except for you and I, everyone brought

(B) Except for you and I, everyone had brought
(C) Except for you and me, everyone brought

(D) Except for you and me, everyone had brought

38. When one reads the poetry of the seventeenth century, you find

a striking contrast between the philosophy of the Cavalier poets
such as Sucking and the attitude of the Metaphysical poets such as
Donne.

(A) When one reads the poetry of the seventeenth century, you
find

(B) When you read the poetry of the seventeenth century, one
finds

(C) When one reads the poetry of the seventeenth century, one
finds

(D) If one reads the poetry of the seventeenth century, you find

39. Because of his broken hip, John Jones had not and possibly never
will be able to run the mile again.

(A) had not and possibly never will be able to run

(B) has not and possibly will never be able to run

(C) has not been and possibly never would be able to run

(D) has not been able to run and possibly never will be able to
run

40. The possibility of expropriation was believed to be unlikely in

the near future due to_the lack of mining technology and capital
available in this small South American country.
(A) due to the lack of mining technology and
(B) because of the lack of mining technology and
(C) because of the lack of mining technology and there was no
(D) because there was no mining technology and
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41. That Giotto’s paintings are significant in the history of the early

Renaissance is undeniable, but Giotto cannot scarcely be considered
the equal of such masters as Leonardo and Raphael.

(A) cannot scarcely be considered
(B) can scarcely be considered
(C) cannot hardly be considered
(D) isn’t hardly to be considered

42. Although the theory of continental drift was not widely accepted

until the mid-twentieth century, the basic concept had been described
as early as 1620.

(A) was not widely accepted until the mid-twentieth century, the
basic concept had been

(B) was not widely accepted until the mid-twentieth century, the
basic concept was

(C) was not widely accepted until the mid-twentieth century, the
basic concept has been

(D) had not been widely accepted until the mid-twentieth
century, the basic concept has been

43. Writing a beautiful sonnet is as much an achievement as to finish
a 400-page novel.

(A) to finish

(B) it is to finish
(C) finishing

(D) if you finished

44. Had I realized how close I was to failing, I would not have gone
to the party.

(A) Had I realized how close

(B) IfI would have realized

(C) Had I had realized how close
(D) When I realized how close
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45.In 1896, Henri Bequerel found that uranium salts emitted
penetrating radiations gimilar to those which Roentgen produced
only a year earlier with a gas discharge tube.

(A) similar to those which Roentgen
(B) like those which Roentgen

(C) similar to those that Roentgen had
(D) similar to them that Roentgen

46. A broad range of opinions was represented between the various
members of the steering committee.

(A) A broad range of opinions was represented between
(B) A broad range of opinions were represented between
(C) A broad range of opinions had been held by

(D) A broad range of opinions was represented among

47. Being a realist, I could not accept his statement that supernatural
beings had caused the disturbance.

(A) Being a realist,

(B) Since I am a realist,

(C) Being that I am a realist,
(D) Being as I am a realist,

48. The reason | came late to class today is because the bus broke
down.

(A) I came late to class today is because

(B) Why I came late to class today is because
(C) I was late to school today is because

(D) I came late to class today is that

49.1 have to make dinner. wash the dishes, do my homework, and
then relaxing.

(A) to make dinner, wash the dishes, do my homework, and then
relaxing.
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(B) to make dinner, washing the dishes, do my homework, and
then relax.

(C) to prepare dinner, wash the dishes, do my homework, and
then relaxing.

(D) to make dinner, wash the dishes, do my homework, and then
relax.

50. The grocer hadn’t hardly any of those kind of canned goods.

(A) hadn’t hardly any of those kind
(B) hadn’t hardly any of those kinds
(C) had hardly any of those kind
(D) had hardly any of those kinds

51. Having stole the money, the police searched the thief.

(A) Having stole the money, the police searched the thief.

(B) Having stolen the money, the thief was searched by the
police.

(C) Having stole the money, the thief was searched by the
police.

(D) Having stole the money, the police searched the thief.

52. Although I calculate that he will be here any minute, I cannot
wait much longer for him to arrive.

(A) Although I calculate that he will be here
(B) Although I reckon that he will be here
(C) Because I calculate that he will be here
(D) Although I think that he will be here

53.Using it wisely, leisure promotes health, efficiency, and
happiness.

(A) Using it wisely,

(B) If used wisely,

(C) Having used it wisely,
(D) Because it is used wisely,

69



54.1 think he approves my choice despite the fact I differ with him,
granted the generation gap between us.

(A) I think he approves my choice despite the fact I differ with
him, granted the generation gap between us.

(B) Granted the generation gap between us, I think he approves
my choice despite the fact I differ with him.

(C) Despite the fact I differ with him, I think he approves my
choice, granted the generation gap between us.

(D) Granted the generation gap between us, despite the fact that
I differ with him I think he approves by choice.

55. The vacationers gnjoyed swimming in the pool, bathing in the
ocean, and, particularly to snorkel near the reef.

(A) enjoyed swimming in the pool, bathing in the ocean, and,
particularly to snorkel

(B) enjoyed swimming in the pool, to bathe in the ocean, and,
particularly, to snorkel

(C) enjoyed swimming in the pool, to bathe in the ocean, and,
particularly snorkeling

(D) enjoyed swimming in the pool, bathing in the ocean, and,
particularly, snorkeling

56. The theme of this novel is how money doesn’t make you happy.

(A) The theme of this novel is how money doesn’t make you happy.
(B) The theme of this novel is that money doesn’t make you happy.
(C) In this novel, its theme is how money doesn’t make you happy.
(D) In this novel, that money doesn’t make you happy is the theme.

57. Start the motor, and then you should remove the blocks.

(A) Start the motor, and then you should remove the blocks.
(B) Start the motor and then remove the blocks.

(C) Start the motor, then removing the blocks.

(D) Start the motor, and then the blocks should be removed.

58.On_entering the stadium, cheers greeted them as a sign of

universal approval of their great achievement.
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(A) On entering the stadium, cheers greeted them

(B) On entering the stadium, they were greeted by cheers
(C) While entering the stadium, cheers greeted them

(D) On entering the stadium cheers greeted them

59. To be sure, there would be scarcely no time left over for other

things if school children would have been expected to have
considered all sides of every matter on which they hold opinions.

(A) would have been expected to have considered
(B) should have been expected to have considered

(C) were expected to consider
(D) were expected to be considered

60. The dean informed us that the applicant had not and never will
be accepted by the college because of his high school record.

(A) applicant had not and never will be accepted by the college
because of his high school record.

(B) applicant had not and never would be accepted by the
college because of his high school record.

(C) applicant had not been and never would be accepted by the
college because of his high school record.

(D) applicant had not been and never would be accepted by the
college because of his high school record.

61. The reason I am supporting Senator Blandings is because her

extensive background in foreign affairs has made her uniquely
qualified for a seat on this important subcommittee.

(A) because her extensive background in foreign affairs has
made her uniquely qualified for

(B) that her extensive background in foreign affairs have made
her uniquely qualified for

(C) that her extensive background in foreign affairs has made
her uniquely qualified for

(D) that her extensive background in foreign affairs had made
her uniquely qualified to

7n



62. Every creditor feels that their claim is the most important thing
in the world.

(A) Every creditor feels that their claim is the most important
thing

(B) Every creditor feels that his claim is the most important
thing

(C) Each and every creditor feels that their claim is the most
important thing

(D) Every creditor feels that their claims are the most important
things

63. During the first year that he and I were neighbours, our conver-
sations turned frequently on the two cardinal points of poetry: the
power of exciting the sympathy of the reader by a faithful adherence
to the truth of nature and the power to give the interest of novelty by
the modifying colours of imagination.

(A) power to give (C) power to bestow
(B) ability to give (D) power of giving



1.
2.

3.

h

12.

13.

14.

15.

16.

17.

18.

Knaroun u mosicHeHHS K TECTOBbIM 3alaHHAM

(B). This corrects the error in agreement: Her brother ... insists.

(C). This is also an error in agreement: Kind is singular and requires a
singular pronoun (this).

(B). The correct idiom is graduate from. The active voice is preferred
to the passive used in choice (C). Choice (D) adds an unnecessary
word; into.

. (B). This question tests agreement. Community (singular) needs a

singular verb, influences. Also, the pronoun which refers to community
should be singular (its). Choice (B) is best.

. (A). No error
. (C). This answer provides the correct subject (/) modified by the verbal

knowing.

. (D). The present perfect tense is required for action begun in the past

and continuing into the present. Being that is incorrect.

. (A). No error. The subject of the verb had must be who, not whom.

. (D). Choice (D) best indicates the doer of the action in the sentence.
10.
11.

(A). No error.

(D). In the original sentence, the subject is fame, a singular noun.
Therefore, the verb should also be singular.

(A). No error. The sequence of tenses requires that the past perfect
tense be used in the conditional clause if she had won it. Also, I is
required after a form of the verb to be.

(B). The climate can only be compared to another climate.

(B). Interest in a subject and admiration for it; the prepositions must
remain,

(D). Parallel structure demands a list of noun phrases: the methods, the
dangers, and the method.

(C). This corrects the double negative (hadnt hardly). Different from
is the correct idiom. Me is the correct form of the pronoun after the
preposition except.

(B). We is correct. Had went is an incorrect verb form (either went or
had gone). (D) is not only wordy but the tense sequence is wrong (the
leaving occurred before the arriving).

(D). The words more and or are unnecessary.
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19,

20.
21,

22.

23.
24.

25,
26.

27.
28.
29.
30.
31.

32.

33.

34.

35.
36.

37.

38.

39.

(C). All the buildings couldn’t have known that the area was prone to
earthquakes.

(A). No error. This is a past conditional sentence.

(D). Had forgotten is used to show that the forgetting preceded the
going to bed.

(C). This is a present conditional sentence; therefore, the second verb
in the sentence should read I would insist.

(D). Anyone is singular,

(B). Here is a series of three Verbs: having researched, organized, and
planned.

(A). No error.

(C). Use the pronoun whom only for people, never for things. Choice
(D) introduces they, a pronoun without a reference. Best is needed
here.

{A). No error.

(C). The pronoun shouid be he.

(A). No error.

(A). No error

(D). The superlative most is incorrect here; when two are compared,
more should be used. Choices (B) and (C) incorrectly substitute due to
for because of.

(D). There is an error in agreement. The singular pronoun anyone
requires a singular pronoun or noun. Although choice (B) corrects the
first error (changes them to him or her), their should also have been
changed.

(D). The correct correlative conjuctions are reither ... nor. The verb
agrees with the noun that follows the correlative ror: fire was; therefore
(B) is incorrect.

(C). This corrects the two errors in this sentence - the error in case (me
for ) and the error in tense (had finished for finished).

(D). Parallel structure is violated in choices (A), (B), and (C).

(D). The possessive form of me (my) is used before a gerund construction
and used as a noun (going). Whoever is correct as the subject.

(C). This corrects the error in the case of the pronoun. Choice (D)
corrects the error in case but introduces an error in tense.

(C). The improper use of the pronouns one and you is corrected in
Choice C.

(D). The omission of participle 11 been is corrected in Choice (D).
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40.

41.
42,
43.
44,
45.
46.
47.
48.
49,
50.
51.

52.
53.

54.

55.

56.

57.
58.

59.

(B). Due to should not be used in place of because of . Choice (D) has an
error in agreement between the singular verb (was) and the compound
subject (technology and capital). Choice (C) is wordy and awkward.

(B). Cannot scarcely, cannot hardly and isn't hardly are considered
double negatives.

(A). No error. The past perfect tense had been described is needed to
make clear the order in which the events occurred.

(C). Finishing is parallel to writing.

(A). No error.

(C). The past perfect tense had produced is required in this sentence to
show that Roentgen’s work preceded that of Bequerel.

(D). Use among when three or more people or things are involved.

(A). No error.

(D). The reason is that is preferable to The reason is because.

(D). This corrects the error in parallel structure.

(D). This corrects the double negative (hand't hardly) and the misuse
of those with kind.

(B). This corrects the misuse of stole for stolen.

(D). Do not use calculate or reckon when you mean think.

(B). One way of correcting the participial phrase is to change it to a
clause ( an elliptical construction). Choice (D) changes the meaning of
the sentence.

(D). The important idea, he approves my choice, should be held to the
end of the sentence. It should not be separated from [ think, as it is the
object of the verb think.

(D). Parallel structure requires the use of the gerund as the object of
the verb enjoyed: swimming, bathing, snorkeling. Enjoy should not be
followed by an infinitive construction.

(B). The clause that money doesn’t make you happy is a part of the
predicative clause after the verb is. How is inappropriate.

(B). The two verbs should be parallel: start and remove.

(B). A gerund construction at the beginning of a sentence must be
followed by the word it modifies.

(C). Would have been expected is incorrect as a verb in a clause
introduced by the conjunction if. Had been expected or were expected
is preferable. To have considered does not follow correct sequence of
tenses and should be changed to to consider. Choice (D) changes the
thought of the sentence and is illogical. Choice (C) is best.

75



19

20
21

22

23
24

25
26

27
28
29
30
31

32

33

34

35
36

37

38

39

. (C). 4ll the buildings couldn’t have known that the area was prone to
earthquakes.

. (A). No error. This is a past conditional sentence,

. (D). Had forgotten is used to show that the forgetting preceded the
going to bed.

. (C). This is a present conditional sentence; therefore, the second verb
in the sentence should read ] would insist.

. (D). Anyone is singular.

. (B). Here is a series of three Verbs: having researched, organized, and
planned.

. (A). No error.

. {(C). Use the pronoun whom only for people, never for things. Choice
(D) introduces they, a pronoun without a reference. Best is needed
here.

. (A). No error.

. (C). The pronoun should be ke.

. (A). No error.

. (A). No error

. (D). The superlative most is incorrect here; when two are compared,
more should be used. Choices (B) and (C) incorrectly substitute due to
for because of-

. (D). There is an error in agreement. The singular pronoun anyone
requires a singular pronoun or noun. Although choice (B) corrects the
first error (changes them to him or her), their should also have been
changed.

. (D). The correct correlative conjuctions are neither ... nor. The verb
agrees with the noun that follows the correlative nor: fire was; therefore
(B) is incorrect.

. (C). This corrects the two errors in this sentence - the error in case (me
for /) and the error in tense (had finished for finished).

. (D). Parallel structure is violated in choices (A), (B), and (C).

. (D). The possessive form of me (my) is used before a gerund construction
and used as a noun (going). Whoever is correct as the subject.

. (C). This corrects the error in the case of the pronoun. Choice (D)
corrects the error in case but introduces an error in tense.

. (C). The improper use of the pronouns ore and you is corrected in
Choice C.

. (D). The omission of participle II been is corrected in Choice (D).

74



40

41.
42,
43.
44,
45.
46.
47.
48.
49,
50.
51.

52.
53.

54.

55.

56.

57.
58.

59.

(B). Due to should not be used in place of because of . Choice (D) has an
error in agreement between the singular verb (was) and the compound
subject (technology and capital). Choice (C) is wordy and awkward.

(B). Cannot scarcely, cannot hardly and isn't hardly are considered
double negatives.

(A). No error. The past perfect tense had been described is needed to
make clear the order in which the events occurred.

(C). Finishing is parallel to writing.

(A). No error.

(C). The past perfect tense had produced is required in this sentence to
show that Roentgen’s work preceded that of Bequerel.

(D). Use among when three or more people or things are involved.

(A). No error.

(D). The reason is that is preferable to The reason is because.

(D). This corrects the error in parallel structure.

(D). This corrects the double negative (hand* hardly) and the misuse
of those with kind.

(B). This corrects the misuse of stole for stolen.

(D). Do not use calculate or reckon when you mean think.

(B). One way of correcting the participial phrase is to change it to a
clause ( an elliptical construction). Choice (D) changes the meaning of
the sentence.

(D). The important idea, /e approves my choice, should be held to the
end of the sentence. It should not be separated from [ think, as it is the
object of the verb think.

(D). Parallel structure requires the use of the gerund as the object of
the verb enjoyed: swimming, bathing, snorkeling. Enjoy should not be
followed by an infinitive construction.

(B). The clause that money doesn't make you happy is a part of the
predicative clause after the verb is. How is inappropriate.

(B). The two verbs should be parallel: start and remove.

(B). A gerund construction at the beginning of a sentence must be
followed by the word it modifies.

(C). Would have been expected is incorrect as a verb in a clause
introduced by the conjunction if. Had been expected or were expected
is preferable. o have considered does not follow correct sequence of
tenses and should be changed to fo consider. Choice (D) changes the
thought of the sentence and is illogical. Choice (C) is best.
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60. (D). The omission of an important word been is corrected in choice

61.

62.

63.

D).

(C). The correct expression is the reason is that. Choice (B) has an
error in agreement: background ... have. The idiom is qualified for, not
qualified to (D). _

(B). The pronoun should agree in number with the noun to which it
refers (creditor/his).

(D). This choice preserves the parallel structure of the sentence.
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